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- Select the

- Consider the

1. Which of the following Sanctuary/National Park

is the primary location in Rajasthan for the
conservation of its State Bird?

(1) Desert National Park

(2) Tal Chhapar Sanctuary

(3) Todgarh Wildlife Sanctuary

(4) Kumbhalgarh Wildlife Sanctuary

(5) Question not attempted

- Bile contains -

(1) Bile salts, Bile pigments,- Cholesterol,
Phospholipids and Traces of nucleases

(2) Bile salts, Cholesterol, Blle pigments and
Traces of nucleases

(3) Bile salts, Cholesterol, Bile plgments and
Phospholipids :

(4) Bile salts and Cholesterol only

(5) Question not attempted

incorrect
mitochondrion -

statement regarding

(1) The mitochondrial matrix contains a single
circular DNA molecule.

(2) The inner and outer membranes do not have
identical sets of enzymes.

(3) The inner membrane forms many infoldings
called cristae.

(4) The mitochondrial matrix possesses 80S
ribosomes.

(5) Question not attempted

following statements about

eukaryotic cell membrane -

(A) Active transport is the only mode of
transport across the membrane.

(B) Phospholipid tail is made up of only the
unsaturated hydrocarbons.

" (C) The amount of protein in the plasma
membrane of human RBC is less than that
of the lipids.

(D) Cholesterol is a universal constituent of all
eukaryotic cell membranes.

Which statements are not true?

(1) (A), (B), (C) and (D) (2) (A), (C) and (D)

() (A), (B) and (D) (4) (A) and (D)

(5) Question not attempted

1.

3.

ffafad 4 | ST PR /IR 39,

IO H 3T WoU UEl B WRevr & forw

wrIfid verel &7

(1) S 3 UTD

(2) 9197 BIUR IHIRY

(3) cfeTTe TUGIg IRTY

(4) HUTG TISIG IHIRTY

(5) arg=Ra ueA

fog # e & —

Mg <w@u, fOg  avfe, gl
BRPIANISH vd Jfaamora @ s

2 9 wau, ®lokgila, 09 gvie w9

T & I

@) o9 49U, dleRgla, U9 avie  wd
BRBIfTISH

4) Fat fiT 99T U9 BleRgla

(5) 3rgaRea ue

ARSIHIgdT & IR ¥ Toad ST &1 TIHq
I _

(1) wrscif~gad Afgad § U& Uhd dgeldR
SITIY 9 BT 2 |

(2) aaR® iR aEd frfeoral & dorgs @&
THEHE W el g ¥ |

() sralR® fireell @3 sidae gl & g
e wET ST B |

(4) wrserit~gad BfeeT # 80S Vg BN
gl

(5) argaiRa wed

FHRAICE HIRE Reel & IR § =1 B

R AR $ifog —

(A) f3reell & IR SIFATHT =g AfHT THT TEHAT
TP 2 |

(B) BIpIfcilis Y28 dadt JEqa ERSIHEd
J 1 B B

(C) 919 ol SR HOrhT T PIRNGT fBreet

B B e A A 1 L s 2

(D) DleRgia O goRAfes Hifdrer Rt
@I AA® Ueh 2 |

P BT eI 8T 27

M (A), (B), ()@ (D) () (A), (C)d (D)

(3) (A), (B)d (D) @) (A)d (D)

(5) 3rgaRa ueA
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- Match the Plant Families given in Column-I with
characteristic Inflorescence given in Column-II
and select the correct answer using the code
given below —
Column-I
(Plant family)
(A) Asteraceae
(B) Lamiaceae
(C) Apiaceae
(D) Fabaceae
(E) Moraceae
Code -
() (A)-(), B)-(iv), (O)-(ii), (D)-(ii), (B)-(v)
@) (A)-(v), (B)-(iii), (C)-(ii), (D)-(iv), (B)-(i)
@) (A)-(0), (B)-(ii), (C)-(iii), (D)-(iv), (B)-(v)
@) (A)-(iii), (B)-(v), (C)-(iv), (D)-(ii), (B)-(i)
(5) Question not attempted

Column-IT
(Inflorescence)
(1) Capitulum
(11) Verticillaster
(i) Compound Umbel
(iv) Raceme
(v) Hypanthodium

- Consider the given statements and select the

correct answer using the code given below -

Statement I : Treatment of waste water is done
by autotrophic microbes naturally
present in sewage.

Statement II : The greater the BOD of waste
water, lesser is its polluting
potential.

(1) Statement I is correct and II is incorrect.

(2) Both statements are correct.

(3) Both statements are incorrect.

(4) Statement I is incorrect and II is correct.

(3) Question not attempted

- Consider the given statements and select the

correct answer using the code given below —

Statement I : High activation energy favors
faster reactions in the absence of
enzymes.

Statement II : Enzymes act by decreasing the
enthalpy change (AH) of the
reaction.

Code -

(1) Statement I is false, Statement II is true.

(2) Statement I is true, Statement II is false.

(3) Both statements are true.

(4) Both statements are false.

(5) Question not attempted

ey Bfell (@lem-1) @1 falte  gumw
(@lem—II) & a1F e Sy vg i g 7o

6 D GBI H FEl IR gy —
eI HictH—II

(are i) (quasn)
(A) TR (i) dfaeam
(B) oifagsd (ii) afeRramex
(C) ufugsi (iii) HHTSUS I
(D) W (iv) X
(BE) W= (v) eRUNfeTH
ﬁ =

(1) (A)-(), (B)-(iv), (C)-(ii), (D)-(iii), (E)-(v)

() (A)-(v), (B)-(iii), (C)-(ii), (D)-(iv), (E)-(i)

(3 (A)-(0), B)-(ii), (C)-(iii), (D)-(iv), (E)-(v)

@) (A)-(iii), (B)-(v), (C)~(iv), (D)~(ii), (E)-(i)

(8) rgaRa v

faw 1 oMl R feR % R Ry U @ @

SUIRT 9 HEl TR BT II9 Py —

P 1: JTURIE STl BT STAR Aae § Hpf
wU W IR WU geAohal gR
far ST 2

S I1: IR Wd & BOD foa-T afdre
BT, SAD! UGHUT &1 Sa+i! & B

BN |

(1) S99 19 & 9 11 39T 2 |

(2) S w9 €|

(3) S BT T |

(@) B 13999 & 9 11 I8 2|

(5) srgiRa ue

QT T Bl W faeR #x R Ry v He B

SUANT ¥ FEI SR BT g4 PIY —

@ 1: Sea Albgr FHoil USirgHl o1 srquRerfer
# g srfafsanst & IRT aval 2

T 11 : UorgH, ifhar 7 Tt aRad=
(AH) BT HH PP B B ¢ |

az\_d'._.

(1) $ 1399 &, HoF I 9 2 |
(2) ®oF 19 B, BT 11 39T 2 |
(3) T B T B |

@) THT FUF T £ |

(5) Srg<iRe u=
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8.

10.

11.

Water moves from plant cell ‘A’ to ‘B’, when -

(1) the cell ‘A’ has lower solute potential than
B

(2) the cell ‘A’ has higher osmotic pressure than
-

(3) both cells have equal water potential.

(4) the cell ‘A’ has higher water potential than
B

(5) Question not attempted

Origin of heartbeat and sequence of its

conduction is -

(1) SA Node — Bundle of His'— Purkm]e fibre
— AV Node i

(2) SA Node — AV Node — Bundle of His
— Purkinje fibre

(3) SA Node — Bundle of His: — AV Node
— Purkinje fibre :

(4) SA Node — AV Node — Purkmje fibre
— Bundle of His

(5) Question not attempted

Wolf and Tasmanian wolf are examples of -

(2) Adaptive Radiation

(4) Convergent
Evolution

(1) Micro Evolution
(3) Divergent
Evolution

(5) Question not attempted

Consider the following statements about ori site

of a cloning vector and choose the correct

option —

(A) Ori is a sequence from where replication
starts.

(B) Ori is a sequence not responsible for
controlling the copy number of the
linked-DNA.

‘Option -

(1) Both (A) and (B) are incorrect.

(2) (A) is incorrect but (B) is correct.

(3) Only (A) is correct and (B) is incorrect.
(4) Both (A) and (B) are correct.

(5) Question not attempted

8.

10.

11.

g gey @ BIRET A’ | BT H 9T w,

e —

(1) e A’ § B @ o # A e
faqa grar 2|

(2) PIferdr ‘A’ H ‘B’ B
<9 BT & |

(3) ST BIRTPHET ¥ TAE W fava 8 7 |

@) PIR@ET ‘A’ H ‘B’ B gl H SII&T Ol
e gram 2 |

garT ¥ raT wRrERell

et (5) argIiRa ue

ged B ISP B IH UG gD Hasd Bl

IHH © —

(ﬂQ?TQHﬁE%f%G%W—)Qﬁﬁ?W
— T S

(2 tar 9 > T A o Ry @ dsa
— gt T

B gy A8 o few & ded o T AR
— gfb=1 g

@y s - T A8 o gEe a9
-9 ® d=a

(5) rgaiRa weA
AfEAT SR T AT IR 7 -
(1) g1 g & (2) el fafexor &

3) syar) Sfgpd & (4) I Sfgp™ ©
(5) 3rgeiRa g

FAIT 8D B ori W & fAud # A4 HAI

I g Wl fddhey iy —

(A) 3R (ori) & 3T & ofal | fdfetiUevor
TR™T BT & |

(B) 3R (ori) TF rHA & Wl WIG-SILAY &
B TR BT BT o @ forw iR
T 5 |

famea —

(1) (A) Td (B) Sl Taid & |

(2) (A)TTera & <if (B) W& B |

(3) Bad (A) W&! © AR (B) Teld & |

(4) (A)Td (B) Sl W&l & |

(5) argaRa e

03 -
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12.

13.

14.

Deuterostomia have —
(A) Tornaria larva

(B) Cleavage - spiral and determinaté

_ (C) Bipinnaria larva

(D) Mouth arises from blasfopore or from
anterior margin of blastopore

Select the correct option -

(1) Both (A) and (C) (2) Both (A) and (D)

(3) Both (B) and (C) (4) Both (A) and (B)

(5) Question not attempted

Which of the following is not an example of

redifferentiation in plants?

(1) Phelloderm

(2) Pheflogen

(3) Secondary xylem obtained from

interfascicular cambium
(4) Phellem
(5) Question not attempted
Consider the given Assertion (A) and Reason
(R).
Assertion (A) : A species can occupy more than
one trophic level in an ecosystem.
Reason (R) : Trophic level represents functional
level in ecosystem.
Choose the correct option -
(1) (A) is true but (R) is false.
(2) (A) is false but (R) is true.
(3) Both (A) and (R) are indi'vidually true but
(R) is not the correct explanation of (A).
(4) Both (A) and (R) are individually true and
(R) is the correct explanation of (A).

(5) Question not attempted

12.

13.

14.

SYCIREIHAT # BT ® —

(A) eHRar st f',::.;
(B) fagem — wftar vd ey =i
(C) srsf=iRar @t

(D) 8@ <IRIUR ¥ AT RN (GRE) B
T RN A a1 B

W& Ree g -

(1) (A) 3R (C) T

(3 (B) 3R (C) T

(5) srfaRa we

=faled & @ @9 uedl § gAFET 3

SEEUIS R

(1) BersH

(2) B

(3) SeXHRiEeR Ditgad ¥ W BdI® JEad

(4) B

(8) Srg<iRa uwA
Ry 7Tv sifimes (A) &R &RYT (R) W fOR
AT | ’
AMHAT (A) : TP IR § Th Wifd T o
: AF UINH WR TIRT Y TPl
=
FRY (R) : UG wWR TRGd # drfds WX
P ST R B |
Wel fadey &1 99 Hifoy —
(1) (A) € 8 g (R) T = |
2 (A) 7T & g (R) T8 7|
@3 < (A) 3R (R) 7% &Y 9 I8 § Ty
(R), (A) BT TET TEIHIT 72T 2 |
(@) I (A) R (R) JIF ©U ¥ W&l & &R
(R), (A) FT TEI TTLIHI ¢ |

(5) argaiRa wed

(2) (A) 3R (D) Tl
(4) (A) 3R (B) eI

03-A
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15. Select the incorrect statement in reference to the 15 W& ffhar & el & Tad deF @
light reaction - ghg —
(1) NADH formed during light reaction is used (1) yarer afdfssar @& SRM A9 NADH &1
to reduce CO; during the dark reaction. SUANT UGG AMHAT & RE CO2 B
(2) Chlorophyll. ‘a’ is the only pigment that IuERIT H¥ @ o far @ 2
directly participates in the light reactions of (2) FERIBE a THATS VET qUic 8, W Webrel
photosynthesis by converting light energy Sl B IEEAS Hot § gRafdd WD
into chemical energy. UhTel HIINUT BT THTeT AfAfhar H wege
(3) The splitting of water is associated with the AT <l 8 |
PSIL (3) S @1 faure PSII & wafdra 2 |
(4) H* obtained from photolysis of water are (4) STcT & HHTE ATECH H W BTgSIo AT
released into the thylakoid lumen and HY) DIEREIET C’*ﬂﬁ"l H Had Bl OId & ol
contribute to the proton motive forece, which WEH IR gof § ANEHE B ©, W B
drives ATP synthesis. ATP HZIYT BI HATRG $R & |
(5) Question not attempted (8) srgaRRa 7
16. Find out the incorrect statement about cleavage - 16 fage™ & IR # ™ U BT qazY —
(1) Superficial meroblastic cleavage in Chick (1) =g ¥ |ag! sl faged
(2) Growth of cells after each division () 7% v & vear HIRERIT @ gy
(3) Holoblastic unequal cleavage in Frog (3) Hew H gUnS IR fagem
(4) Rapid DNA replication and cell division (@) g Sieg wfdefa 3R o1 gfg @ ik
without growth IEGINE] :
(5) Question not attempted (5) srgaiRa ueA
17. Select the correct statements using the code 17- <19 QY Y Fe &1 IUINT IXP WL HAAT B
given below - T PN —
(A) Viruses are acellular, obligate, intracellular (A) ERY DD, fdHed], siaHiR@™
parasites. IRSHT B 2 |
(B) Virions are the infectious virus particles. (B) faRait wepres araws Ho7 |
(C) Viroid is a Single-stranded circular RNA (C) AT TH THei—IoP TYAPR FRTTT
(ssRNA). SRRy ﬁT 2 2
(D) ‘Virus’ and ‘virion’ terms can be used ®©) W‘\,eﬁ? ﬁﬁ T Slesl S penict :
IRRIGATST § TH—ga @ I )
interchangeably in Virology. : STERAT R
Code - e 7 -
(1) B),(C)and (D) (2) (A), (B), (C)and (D) (1) (B), (C)T& (D) @ (A), (B), (C) T (D)
@) (A). B)and (C) ) (A), (B) and (D) (3) (A),B)TE(C) @ (A),(B)Td (D)
(5) Question not attempted (5) srgaiRa ueA
03-A



18. Match the Plant Groups given in Column-I with 18- Ffe—1 # QU Ty UGy W&l & Prem—11 A
their Characteristic Features in Column-II and 3 S fAal¥re et | ?jﬁﬁ*lﬂ G
select the correct answer using the code given H feu v HT 8 SR BT IIT PN —
below — PicH—1

Column-I (@Y T9E)
(Plant Group) (A) zufeawiftast
(A) Hepaticopsida (B) TIRRICtaST
(B) Anthocerotopsida (C) FrafeTsT
(C) Bryopsida (D) cRiftgsT
(D) Pteropsida Gargr | |
Column-II (faf¥re fareiyan)
(Characteristic Feature) i) ;ﬁﬁfrul_aﬁ-q H 3T @Y IufRerfy
(i) Presence of stomata in sporophyte (i) dom—3fag ¥ Ry fvsaaaT 8
(i1) Sporophyte has a basal meristematic region BT &
(iii) Gametophytes thalloid or leafy with (iii) EYITSEd Jad TS AT TGN
rhizoids THABIEG
(iv) True roots, stems and leaves present in (iv) Som-Sfag ¥ SuRed arafds o,
sporophyte 3w gyt
Code - e —
(1) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv) (1) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv)
@) (A)-(), (B)-(ii), (C)-(iii), (D)-(iv) ) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
() (A)-(i), (B)-(iv), (C)-(ii), (D)-(iii) (3) (A)-(G), (B)-(iv), (C)-(ii), (D)-(iii)
@) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(D) @) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(5) Question not attempted (5) SrgaRd we
19. A human female with Turner syndrome - =R RigH © uf¥d Aa AeT —
(1) has 45 chromosomes with XO condition. (1) # 45 TorRFg X0 Reafd gt &
(2) has one additional X chromosome. 2 ¥ ve afiRad X TOREH BT 2
(3) has one additional Y chromosome. ' @) ¥ vE IR Y T o 2
(4) is able to produce children with normal @ T B o S e e &
husband. kL
(5) Question not attempted (8) srgafRa w

20. Consider the Assertion (A) and Reason (R) and - 3P (A) R HRU R) W f[IaR & &R
choose the correct option from the code given I few U HE # ¥ 98 fAwes g —
belowj : _ AP (A): TP UleimRST aUfer 8 3R g9H
Assertion (A) : Taq polymerase is thermostabl; %—'ﬁ%‘ﬂ T —

and  lacks  proof-readingg™ e N
activity. A PR (R): BERRRSEUY EEl
Reason (R) : Taq polymerase possesses 3' to 5' forar 2 &1
exonuclease activity. owe —
Code - (1 (A) 3R (R) IHT FE € &b (R), (A) B
(1) Both (A) and (R) are correct but (R) is not T arR=ET TEY 2
. the)correct exll))lanall:{i;)n of (A). (2) (A) G & b (R) T
(A) is correct but (R) is incorrect.
(3) (A) is incorrect but (R) is correct. @) (A) e & ?\ﬁ’_r{ ®) ﬂ_ﬁ gl
(4) Both (A) and (R) are correct and (R) is the (@ (A) AR (R) IHF FE T AR (R), (A) @
correct explanation of (A). WET T § |
(5) Question not attempted (5) Irg<iRd g
A Page 7 of 40
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21. How many 2p atomic orbitals of boron
participate in hybridisation to form the bonding
hybrid orbitals in BF3?

(1) Three (2) One
(3) Two (4) Zero
(5) Question not attempted

22. Match  the  Column-I
Hydrocarbons) with Column-II (Type of
Reaction) —

Column-I
(Reaction of Hydrocarbons)
@) n-CH, Hcrz
10— 20 atm
(i) CHs — C= C— H+ H, %5 CH,— CH = CH,

Fe
(iii) 3CH=CH.——— C_H;

873K
(iv) CHas+ O2 - C(s) + 2H20
Column-II o=
(Type of Reaction) ?Z”

(a) Partial Reduction
(b) Cyclic Polymerisation
(c) Incomplete Combustion
(d) Reforming
Choose the correct code -
(1) @@)-(d), (ii)-(b), (iii)-(a), (iv)-(c)
) (@)-(d), (ii)-(a), (iii)-(b), (iv)-(c)
() ()-(b), (ii)-(d), (iii)-(a), (iv)-(c)
(@) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)

- (5) Question not attempted

23. Match the Quantum Numbers in Column-I with

the corresponding Orbitals in Column-II -

Column-I Column-II
(Quantum Numbers) (Orbital)
(A)n=2,1=1 (i) 4s
B)n=4,1=0 (ii) 2p
(CYn=5.1=3 (iii) 3d
Din=31=2 (iv) 5f

Select the correct option -

(1) (A)-Gi), (B)-(i), (C)-(iv), (D)-(iii)
(@) (A)-(iv), (B)-(ii), (C)-(i), (D)-(iii)
() (A)-(ii), (B)-(iii), (C)-(iv), (D)-()
@) (A)-(iii), (B)-(i), (C)-(i), (D)-(iv)
(5) Question not attempted

(Reactions  of -

sl

21.

22,

23.

BF; ¥ 3168+ Hox H&d Pl a7 & forg IR
% fba 2p URHAIY] HeTh HHRIT H W ol &7

(1) = (2) T

@ @ @) T

(8) rgaiRa ue

Piam-1  (BIEgidEal @ afafban) @l

BicH-11 @IfAfhaT & gar) 9 gafea Iy —
EillSkim |
GESEIERIECI R I GIE )
@) n-—CﬁHMCE%
10 20 atm
< Pd/C
(ii) CH; — C=C — H + H, — CHaz— CH = CH,

Fe
3CH=CH ——
(111) 573K C.H,

(iv) CHs+ Oz » C(s) + 2H,0
P11
(rfaferar &1 IPR)
(a) NP JTTIH
(b) THI TEADIDRT
(c) gVl <&
(d) T
WEl BT BT TIT DY —
(1) ()-(d), (ii)-(b), (iii)-(a), (iv)-(c)
(2) ()-(d), (iD)-(a), (iii)-(b), (iv)-(c)
(3) (i)-(b), (ii)-(d), (iii)-(a), (iv)-(c)
(4) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)
(5) IrgaRa ued
BiH-1H <1 TS FicH GBI BT Piod-I1 §
fiu Ty 90 W9 FEdl b AT g
P —

BictH-1 Pie-II
(ien wem) ()
(A)n=2,1=1 (i) 4s
(B)n=4,1=0 (i) 2p
(C)n=5,1=3 (iii) 3d
D)n=3,1=2 (iv) 5f
el APy &1 9= B —

(1) (A)-(id), (B)-(1), (C)-(iv), (D)-(iii)
2) (A)-(iv), (B)-(ii), (C)-(), (D)-(iii)
3) (A)-Gi), (B)-(iii), (C)-(iv), (D)-(i)
@) (A)-(id), (B)-(i), (C)-(i), (D)-(iv)
(5) SrgaiRa U
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The correct [IUPAC name of given compound
is —

C,H;
(1) 1-Ethyl-4—iodo-5-nitrobenzene
(2) 1-Todo—4—ethyl-2-nitrobenzene
(3) 4-Ethyl-1-iodo—2-nitrobenzene

(4) 1-Ethyl-4-iodo-3-nitrobenzene

(5) Question not attempted

Total number of node/s for 3d orbital is/are -
(1) One (2) Two

(3) Zero (4) Three

(5) Question not attempted

The electronic configuration of five elements are
given below —
[A] 1s* 25

[B] 1s? 2s*2p!
[C] 1s% 252 2p?
[D] 1s? 2s% 2p°
[E] 1s? 2s%2p*
The correct order of first ionization enthalpies of
elements is -

(1) [A]<[B]<[C] < [D] < [E]

(2) [A]<[B]<[D]<[C]<[E]

() [Bl<[A]<[C]<[E]<[D]

(4) [E]<[D]<[C]<[B]<I[A]

(5) Question not attempted

- Consider the following reversible reaction which

is at equilibrium - :
2NO,(g) = N,0,(g); AH = —57.2kJ /mol
(Brown) (Colourless)
Consider the following observation/s regarding
above reaction -
(a) On decreasing temperature, intensity of
brown colour decreases.
(b) On increasing pressure, more N2O4 (g) will
be formed.
(c) The value of equilibrium constant decreases
as the temperature increases.
Choose the correct option -
(1) Only (b) is correct.
(2) All (a), (b) and (c) are correct.
(3) Only (b) and (c) are correct.
(4) Only (a) and (c) are correct.
(5) Question not attempted

24.

25.

26.

27.

fey v Affres &1 | IUPAC M & —
NO,

I

C.H
(1) 1_¢faam@-s-¢s¢é%ﬁq
(2) 1-3MASI-4-UA-2- TSI~
(3) 4-TfdrA—1-IMATSI-2—ATg S oI
(4) 1-UfT4—3MmaISI-3— ATS eI
(5) araRd U=
3d d&d & fou Are /Sl B da G=A

g8/% —

(1) T (2 <
(3) I 4) a9
(5) <IN U

g‘m Tl @ Sodel-e fa= A iy T
[A] 1s% 25?

[B] 1s? 252 2p!

[C] 152 252 2p?

[D] 1s? 2s22p°

[E] 1s% 252 2p*

A [ B UUH AT Ul B A BT Hal BH
(1) [A] <[B]<[C] <[D] < [E]

(2) [A] <[B]<[D]<I[C]<[E]

(3) [B] <[A]<[C]<[E]<[D]

(4) [E]<[D] <[C]<[B]<[A]

(8) Srg=iRa wed

f=forRad Sepavig ifafrar R AR Hifog,
ST o ar=Taver § 8 —

2NO; (g) = N;04(g) ; AH = -57.2 kJ/mol

GRY) (XTE)
affpar & wWed ¥ f=fafed
Yeror / Vel R AR Sifvie —
(a) AT T W R T BT g el ¢ |

(b) T8 FGTH TR TATGT NoOy (g) I791T |

(c) I ¥g- & TrI ArTaRen ReRid &1 AF
el 2|

T2 fahey &1 a9 DT —

(1) Bad (b) T & |

(2) (a), (b) IR (c) T FEI B |

(3) Baal (b) 3R (c) T B |

(4) DI (a) 3R (c) LT & |

(5) Srg<IRa we

| 20,
|
:
:
E
]

25,
’

26.
» 27
¢
?
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28. Arrange the following carbocations in increasing  28- f=feiRaq wEeHRET 3T S5 Wi & Tad
order of their stability — HH H gaferd HIfg —
® ® ® @ @ ) B D
(C¢H;),C, (CH;);C, CHyCH,, CH; (€C.H.).C, (€H;1;C,CH CH,. CH,
) @ @ @ D ) @® @ @ @
(C,H,),C< (CH,), C< CH-CH, < CH, (C,H,),C<(CH,), C< CH~ CH, < CH,
@ 2 2 @ 2 @ ® @ @
CH, < CH;-CH, < (CH,), C< (CH,),C CH, < CH;CH, < (CH,), C< (C,H,),C
&) (C6H5)3(g < ((?HS < CH;?HZ < (CH3)3? @) (C6H5)3(€5) < ((?H3 < CH;%)H2 < (CHQ,%
@ CHs"E(?Hz 2 (CesHs);(&D = ?Hs o (CHJ)J% ) CHT%)Hz = (CcsHs)s% = %_)Hs = (CH3)3?
(5) Question not attempted (5) 3FFaIRT UeA :
29. Consider the following statements regarding the 29 M mad arvft & def # fA=fiReg
Modern Periodic Table — Pl R f[AOR Sy —
(i) s and p-block elements together are called (i) s GAT p-sciids & a<dl @I Afaferd w9 A
Representative Elements. U v Fed © |
(ii) Among Mg, Mg?(g), AI**(g) and Al the (ii) Mg, Mg>*(g), AI**(g), A1 ¥ & 3ifdpas
largest species is Mg. TBR drei! ST Mg % |
(iii) The electronegativity generally decreases in (iii) TP 3MMad H 918 A TS TR oM W
a period from left to right. - IR ool WATEIROIGAT |l ¢ |
Choose the correct statement/s - = el DU /BT BT FIT BITY —
(1) Only (iii) (2) Only (i), (iii) el (1) Bad (i) (2) Bad (ii), (i)
(3) Only (i), (ii) (4) Only (i), (iii) (@) @aa (i), (i) (4) Bad (i), (iii)
(5) Question not attempted (5) IaRd ueA
30. Which one of the following reaction is an 30. f=fafeq # & Hll fAfbar srFERUEH
example of disproportionation reaction? JAMAfHAT FHT ISR B2
(1) Clx(g) + 20H (aq) —» ClO(aq) + Cl=(aq) (1) Clx(g) + 20H (aq) - ClO~(aq) + Cl(aq)
+ H>0(1) + H20(1)
(2) CIx(g) + 2KI(aq) —» 2KCl(aq) + Ix(s) (2) Cla(g) + 2KI(aq) - 2KCl(aq) + Ix(s)
() 2H,0(1) + 2Fa(g) -~ 4HF(aq) + Oa(g) (3) 2H,0() + 2Fx(g) ~ 4HF(aq) + O2(g)
(4) 2F,(g) + 20H (aq) —» 2F-(aq) + OF:(g) (4) 2Fy(g) + 20H (aq) - 2F(aq) + OFa(g)
+ H20(D) + H,0(1)
(5) Question not attempted (5) srgaRa wew
31. Which one of the following compound is not 31 fafeiRad # & BT A Wifes =18} 27
aromatic?
1) ©C+) @ () i ©® 3
WD - @) wDe
(5) Question not attempted (8) srgaRd e
32. The number of moles of methane required to 32. TBT & TTAN 44 g CO, (2) I TN & faw
produce 44 g of CO: (g) after combustion is - W © AGIAS Al P G & —
(1) 2.0 mol (2) 0.5 mol (1) 2.049 (2 0579
(3) 1.0 mol (4) 1.5 mol (3) 1.049 @ 159
(5) Question not attempted (5) araRa T
03-A Page 10 of 40



33.

34.

35.

36.

Consider the following two statements —
Statement I : Greater the charge on the cation,
greater is the covalent character
of the ionic bond.
Statement II : Partial covalent character of ionic
bonds may be explained with the
: help of Fajans’ rule.
Choose the most appropriate option -
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true and Statement II is false.
(4) Statement I is false and Statement II is true.
(3) Question not attempted
Arrange the following acids in order of their
increasing acid strength -
HF, HCI, HBr, HI
(1) HBr <HI < HCI < HF
(2) HF < HCI < HBr < HI
(3) HI < HBr<HCl < HF
(4) HF < HBr < HC1 < HI
(5) Question not attempted

The method used to purify liquids having very
high boiling points and those which decompose
at or below their boiling points is -

(1) Distillation under reduced pressure

(2) Fractional distillation

(3) Steam distillation

(4) Differential extraction

(5) Question not attempted

A block of mass m = 2kg moves along a
horizontal frictional surface under the action of
the forces as shown in figure. The coefficient of
kinetic friction between the surface and block is
pk = 0.20. What is the normal force N due to the
surface? (take g = 10 m/s?) :

\LFa =4.0N

F, = 8.0N
<_

y:
f

!
mg TN
(1) 28N (2) 20N

(3 16N - (4) 24N
(5) Question not attempted

33

34.

35.

36.

o

= §F
F, = 20.0N j’_?‘;‘j
— TS

f=ferfad o FoFl ) AR IR —
B [ : EFTOF TR A9 do4 | Fh ey
S HEagre @er § gy Bl 2
$A 11 : I 3rEel & 2Aif¥re Feadion
Ff&i’“THﬁﬁﬁﬂﬂTW(Fajans)Eﬁ
9 & e 9 P 1 Ghdl ©
Haits Iugad fddhed &1 9399 i —
(1) S [T HIF M SH TF 8 |
(2) Foe [T FUF I SH] T 2 |
(3) B 19 & 3R HAF 139 B |
(4) FHYIT 139 & IR B L9 2 |
(5) Ir<IRd U :
frfoRad ardll @ 9@ ded ¢ oFFel ared
% PH H aReyd HIfviy —
HF, HCI, HBr, HI
(1) HBr < HI < HCl < HF
(2) HF < HCI < HBr < HI
(3) HI < HBr < HCl < HF
(4) HF < HBr < HCI < HI
(8) IgTRT U
Ig fafy & w0 w9 @ weE @ fog ugaa @
Sl & oo JauEie of ST 8 & a1 o
I TR AT IEW N FH U W IgEfed
BRI
(1) 991 <19 W) A
(2) wHTol 3mHaH
(3) 9T I
4) faa) fspeor
(6) sraRa W
m = 2kg STANM ® UF <id Yo &fad
TYUE 98 W AR e 96l & wE
# wforeficr 8 | 9ag IO siid 7 o gy
TOTe i =0.20 B | |
e @ BRI AN g N &1 719 F®7 87
(g =10 m/s2 =)
lF3=4.0N

F, =8.0N R = 20.0N
¢ |
f 1\
LA
(1) 28N (2 20N
) 16N (4) 24N
(5) IrgRa U

03 -
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ML3Q

37. In the expression T = 27 ~eun yhere T is - 37, &5 T = 2n_ | =2 ¥, Sef T, aTs L, S
time period of a bar of length L, mass M and M 3R I LIICR qrell U B BT ATl
Young’s modulus Y, the dimension of the S IMQ B AT -
quantity Q is - oy -3 fr:

(1) ML @ ML Ll L
3) M- (@) ML (3) M'L (4) M°L
(5) Question not attempted () orgeika w1 .

38. A transformer has 300 turns in its primary coil 38 U TABMHR &I URIHG Bl § 300 B Al
and 75 turns in its secondary coil. When the fadigs gt 7 75 B *5"1 w9 fgdras feen
current in the secondary coil is 20A, the current ¥ o7 BT AT 20A 8, dI urafie Gl ¥ R
in the primary coil is - BT A9 BRI —

(1) 60 A (2 5A (1) 60 A 2 5A
(3) 25 A (4) 80 A (3) 25 A (4) 80 A
(5) Question not attempted (5) Sﬁ?lﬁﬂ g

39. Two identical objects are placed in front of 39 & |IEH Ty, d@da UV 3R T ‘c{d‘ﬂT
concave mirror and convex mirror having same @l ahar Bsa] 99 12 cm & & 9
radii of curvature of 12 cm, at the same distance aferT U & gal W FAE X 18 cm W )
of 18 cm from_ the poles of respective mirrors. £\ sraae T ok SO € § I 9
:Vhat is the ratio .of sizes of the 1mages.formed uffiet & araah (@) 1 ST T 2

y the concave mirror and the convex mirror? (1) 1 @) 1
m1 (2 1 = 5
@ 2 @ 3 e (9.3
(5) Question not attempted (5) srgafRe we

40. Light is incident normally on the short face of 2 40- yTer UH 30°-60°-90° il & BIE Bl TR
30°-60°-90° prism. A liquid is poured on the AT w9 § IMufad BT g1 o9 & ol
hypotenuse of the prism. If the refractive index W U T9 STl oIdT & | I fIoH &T sad=ie
of the pr;sm is \1/3, fijnd the kI;naxilmlljlm refractil\lfe V32 1 59 BT ARIBaH TIPS ST BT
index of the liquid so that light is totally m'mwwﬁwaﬁﬁ?rm— '
) 1.5 4) 1.8 (3) 1.5 4) 1.8
(5) Question not attempted (5) 3rgaiRa we

41. Consider the following statements in context to  41- ¥Reft iR ariReN galf & w=d # fFr=foRaq
the conservative and non-conservative forces - FUAEl R R #iforw —

(A) A force is non-conservative if it causes a (A) If¢ ®I$ 91 TP FHoll EH qRads Hedl
change in mechanical energy E. g, dI 98 9of 3ravell g dr 2|

(B) The work done by a conservative force (B) Tt wvell 51 g1 fohar a1 ®1, 99 9
equals to the negative of the change in the q \—{]‘—eﬁ Rafow oot § Y gRadq &
potential energy associated with that force. RUTcHD D S¥IEY Bidl 2 |

Select the correct answer using the code given H feg Ty FHT BT ST HIP Ta] ST FI

below - I BT —

Code - aﬁ S

(1) Only (A) is correct. (1) Bacl (A) G 2|

(2) Only (B) is correct. (2) PaeT (B) W 2|

(3) Both (A) and (B) are not correct. (3) T 41 (A) 3R -1 & (B) W& 2|

(4) Both (A) and (B) are correct. @) T (A) 3R (B) T § |

(5) Question not attempted (5) rgIRa e
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42. Read the Assertion and Reason carefully for
capillary rise of liquid and choose the correct
option -

Assertion : When a capillary tube of insufficient
length is dipped in a liquid, the
liquid does not overflow.

Reason : Product of radius of meniscus and

~ height of liquid in capillary tube
always remains constant.

(1) The Assertion is false but Reason is true.

(2) Both Assertion and Reason are true and the
Reason is the correct explanation of the
Assertion.

(3) Both Assertion and Reason are true but
Reason is not the correct explanation of the
Assertion.

(4) The Assertion is true but Reason is false.

(5) Question not attempted

43. Two vectors lie with their tails at the same point.
When the angle between them is increased by
20°, their scalar product has the same magnitude
but changes from positive to negative. The
original angle between them was -
(1) 70° (2) go°
(3) 90° (4) 60°
(5) Question not attempted

44. A particle moves along a straight line OX. At a
time t (in seconds), the distance x (in meters) of
_ the particle from point O is given by -
x(t)=40 + 12t ¢

How long would the particle travel before

42.

43.

44.

59 & HRIH S & forg ifiwes sk FrRo
S AMYAS U AR Fel ey g —
AMHA : T JYAT SAGTg BT BIRAHT Al DI
et 5@ § garm o &, O &9
qre} 8l Mderdr |
HRYT : Aqd5d DI 507 IR BRET e # 59
BT HdTs BT oG gHem ReR &
2| '
(1) fAFHUA o9 § b HRIT FF 2 |
(2) WP 3R BRU SHI F™ & 3R PRI,
T &1 |El A B |
(3) AfHYA R HRUT GHI FA & olfdh] BRI,
JMHU P HEl ARAT 78 & |
(@) FfHe A9 B A HRT A B |
(5) areiiRa we
31 wfewt @ g (IRMe Ig) @ & fig w
Rera 2| oTa S §1 &1 BIvT 20° W g fear
ST 2, A1 S AT YUHHe b1 TRATIT HAH

YT €, difd gTcHS & FUNHSD H 9Gef STl

€| S HeF Hel BT AT —

(1) 70° (2) 80°
®3) 90° 4 60°
(5) argIRa we

Wwww%@oxzﬁﬁﬁﬂnﬁm
gIfFTmtRIT I A50 A A x 39
e & 9Nl & —
x(t) =40+ 12t - ¢
STEf t HHvS | qAT x AexX # & | fRW #

coming to rest? I TR B B NI aF HI TS G BT —
(1) 56 m (2 24 m (1) 56 m (2) 24m
(3) 40 m (4) 16 m (3) 40 m (4) 16 m
(5) Question not attempted (5) argaiRa ue
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45. A particle of mass m is placed — 45. SaHM m & & HYT @ AT ® —
(I) inside a uniform spherical shell of mass M, (D) SFHE M & THIA TATHR BT B 37aR,
but not at the center. ifPT Bg W Tl |
(IT) inside a uniform spherical shell of mass M, (ID) TFE M & UHEHM TAThR DI P e,
at the center. DG R | :
(III) outside a uniform spherical shell of mass M, (II) =TI M & THIIH TMAThR S &
at a distance r from the center. R, DE W r U W
(IV) outside a uniform solid sphere of mass M, (IV) S9HF M & UHEAHE 319 el & d18,
at a distance 2r from the center. P H 2r @ X |
Rank these situations according to the magnitude g+ Rerfadt &1 & ) Wﬁ;ﬁi‘w g & gfHTo7
of the gravitational force on the particle, least to B AR 'ﬂﬁ'@[ PH H HIY 3AWF do HiEd
greatest. HY —
(1) (@D, D, (D), (IV) (1 (@), (D), (1), (IV)
(2) Equal on (I) and (II), then (IV), then (III) (2) () 3R (1) R |8, e (IV), fBR (1)
(3) Equal on (I) and (II), then equal on (III) and (3) (D 3R (1) W ¥, R (1) R (V) )
(Iv) 4
(4) Equal on all (4) 9 W 99+
(5) Question not attempted (5) argaRa ueA
46. For the network of identical resistance (each R)  46- fersy % waf¥q wdww ufeRiwa (4% R) & Siral
shown in figure, the equivalent resistance & foru RRTA 9B & 7e1 JI ufer 8 —
between terminals A and B is —
— A
A
M 3g
(M 2gp (2) g 3
3 3 @) 2p
(3) gR 4 gR . 3
(5) Question not attempted @ i
47. A force F = —K(yi + xj) (where k is a positive 47- & 9e1 F = —K(yi + xj) (G8f k U6 e=rcia
constant) acts on a particle moving in the xy ReRi® 28), xy a1 # TRWH P BT W SR
plane. Starting from the origin, the particle is &Rl Bl 9 g 9§ g% e gU, B DI
taken along the positive x axis to the point (a, 0) E':'E gD x 31&T & I 9 (a, 0) T& o wImaAT
and then parallel to the y axis to the point (a, 2). EL= ST & ik f y 3T & FHFIR 65 (a, a)
The total work done by the force F on the particle TP o ST WAl 2] &9 W 9 F gR7 fhan
is - T B B § —
(1) —Ka? (2) —2Ka? (1) —Ka® (2) - 2Ka?
() +2Ka® (4) +Ka? (3) +2Ka? (4) +Ka’
(5) Question not attempted (5) 3R oA
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:

48,

49.

Consider the situation shown in figure. The force
F is equal to %. If the area of cross section of

the wire is A and its Young’s modulus is Y, then
the strain developed in the wire is -

(wire is light and there is no friction anywhere)

F
<€—m,

mzg (2m1+m2)
2AY (m1+mz)
m,g (m;+2m;)

(3) KY- (m1+m2)

myg (2m4+m;)
AY (m1+m2)
m,g (m;+2m;)

(4) W (m1+m2)

(1) ()

(5) Question not attempted

A block of mass 1kg is at rest on a rough
horizontal surface having coefficient of static
friction 0.2 and kinetic friction 0.15. Find the
frictional force if a horizontal force F = 1 N is

48. fo ¥ yweRia uRRufd w® IR &%) 9a F,

mzg
== B IR 2 | A AR BT IR BIT &b
A T AT SHST AT OIS Y B, 99 IR § S~

faspfer & —
(AR &1 & T FEl W IS =¥ T 2)
F

m

1

m;g (2m;+m;)
2AY (m1+m2)

m,g (2m;+m;)
AY (m1+m2)

(1) )

myg (m;+2m;) mg (m;+2my)
(5) rFIRT U

- U AU SeHM $ U <iie S GIaY

&fow a1, et Wifde avor ne 0.2 o
i YT I 0.15 8, W ReR a@awen 4 & |
i & W UF &fs a8 F= 1 N aRifua

applied on the block - f&ar Y a1 gvvr 96 &1 A fhaer 8
L5 F F
1kg e e
f$T7TTTTTT7 (77777777
MIN (2 1.96 N (M 1IN (2 196N
(3 2N (4) Zero () 2N 4) I
(5) Question not attempted (5) Srg=iRa we
50. Moment of Inertia of a thin uniform rod rotating  50- 3109 &g | ok aldl FIad HeT & TR o
about the perpendicular axis passing through its H! U Ucloll UhHAT TS BT ofecd Mg
centre is L. If the same rod is bent into a ring and 2] I S B & UP gy & w9 F Al
its moment of inertia about its diameter is I', then T & 3R 39S O & URd: Sed Smgu I
the ratio I/T' is - 8, A1 U ' —
8 2
M (3)n? @ (3)n? M () @ (3)n?
S\ 3\ 2 8 3\ 2
@ () @ (5) @ (5)r @ (5)
(5) Question not attempted (5) Srg=IRa we=
51. During which phase of the sigmoid growth curve - Rrige 9fg o @ 59 TR & IRE AN
is the Relative Growth Rate (RGR) at its 9f& X (RGR) AfHIH il 27
maximum? ' (1) @1 green (2) CIFRI grawen
2 i .
(1) Log phas? (2) Stationary phase (3) R @ 3
(3) Deceleration phase (4) Lag phase z
(5) Question not attempted ®) 313 M
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52.

53.

54.

55.

56.

57.

Consider the given Assertion (A) and Reason 52

(R) -

Assertion (A) : Male lac insect doesn’t take

major part in secretion of lac.

Reason (R) : Male has short life span.

Choose the correct option -

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(5) Question not attempted

Pituitary gland is controlled by which part of the 53

brain? :

(1) Medulla (2) Hypothalamus
(3) Optic lobes (4) Cerebrum

(5) Question not attempted

The trichocysts in Paramecium are used for - 54.

(1) Movement (2) Digestion
(3) Defence and

anchorage

(4) Excretion

(5) Question not attempted

Which of the following option is correct in 59
9 BociiL
reference to the earthworm? boe-s
5 - ¥

(1) Pharyngeal nephridia are exonephric.

(2) Septal nephridia are exonephric.

(3) Integumentary nephridia are enteronephric.

(4) Integumentary nephridia forms “forest of
Nephridia”.

(5) Question not attempted

In photoperiodic responses, night break in short ~ 96-

day period plants typically -
(1) has no effect. (2) inhibits flowering.
(3) enhances fruit-set. (4) induces flowering.

(5) Question not attempted

Which of the following is not a type of 957
Grassland?

(1) Savannas (2) Taiga

(3) Prairies (4) Steppes

(5) Question not attempted

- f3u v fPpeE (A) 3R HRY (R) R fdaR
AP (A) : TR G, $Ic ag B gau H
T ©U | AT TG o B |
PRI (R) : R BT SNa-IhTel Bl 8ial & |
e fApey &1 99 IR —
(1) (A) ¥ € =g (R) Tod 2 |
(2) T (A) 3R (R) W& € g (R), (A) B
TE WA TEl B |
(3) (A) Terd & W= (R) 92 & |
(4) ST (A) 3R (R) T8I & iR (R), (A) FT T&I
TR 2 |

(5) araRa U
??{quﬁaﬂﬁaﬁﬁa%mw@rﬁuﬁﬁ' Bl
?

(1) Agen (2) EZURCHY

(3) ga—urfert @) adsw (yHikass)
(5) IR U

Wﬁmﬁmwmﬂﬁmm

(1) wfy & forg () urE B fo

(3) <& 3R IMEwH & (4) SauiA & forw
ferg

(5) arRe e

Sy & ded # ffoRad § | = e

|l &7

(1) IR ga®®, R 8 & |

(2 97 gam®, IfEgapa g €

(3) SR gawd, I JFH B B |

(4) SrEATERMY gahd WIS & STl 91
g

(5) Sr<IRdT we

iftaerferd gfafshamel d, rcu—udifta wifers

el § fy fasm R ) —

(1) ®I$ yvg T8l (2) gmﬂaﬁa@ﬁm
gIar | |

(&gﬂﬁwm 4 &I ARG HRa

| |

(5)3@?@3?{5{

%ﬁmﬁ%ﬁﬁﬁaﬁﬁww—ﬁ?ﬁmmﬂﬁ

{:

(1) SarET (2) &

(3) Ty (4) w=q

(5) FgaiRa weA
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58. Match the Gene Interaction Type (Column-I) 58 F 3= fhdl & UHR (PTaH-I) B SHD
with its typical Phenotypic Ratio or Example faftre derousdl U / IR (SidH-11) |
(Column-II) and select the correct answer using gaferd &) i T Y §c & SUGRT ¥ W&
the code given below - IR BT TIT DY —

Column-I PicH-1
(Type of Gene Interaction) (e frar &1 UPR)
(A) Complementary gene interaction (A) R o4 g foar
(B) Recessive epistasis (B) TG TEeTT
(C) Dominant epistasis (C) w9TdT Uderar
(D) Duplicate gene interaction (D) fg® S == farar
Column-II Pica-11
(Phenotypic Ratio/Example) _ (TRl YT / SETERT)
(i) 15:1 (e.g., seed capsule in shepherd’s purse) (i) 15:1 (SSERT : IS U6 H 9197 &
(ii) 9:3:4 (e.g., coat color in mice) (ii) 9:3:4 (SITERVT : A H THER / DIT FT )
(iii) 12:3:1 (e.g., fruit color in summer squash) (iii) 12:3:1 (STERVT : G B H Gl H1 )
(iv) 9:7 (e.g., purple flower in Sweet Pea) (iv) 9:7 (STExVT : Ee—d1 #§ Frh Te)
Code - e
(1) (A)-@v), B)-(iii), (C)-(i), (D)-(ii) (1°) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)
(@) (A)-(i), (B)-(iii), (C)-(iv), (D)-(i) ) (A)-Gi), (B)-(iii), (C)-(iv), (D)-(i)
B) (A)-(), (B)-(ii), (C)-(iii), (D)-(iv) (3) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(@) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(i) @ (A)-(iv), (B)-(ii), (C)-(iii), (D)-(1)
(®) Question not attempted (5) argaiRa U

59. Consider the following characteristics of 959- foraRae @R # & 9 T@ol w® foOR

liverworts and mosses - BIR —

(A) In both, sporophyte is non-green. (A) THET H e & A8 B B |

((1_3:; in Eotﬂ, Elaters alr]e prt?sent. (B) I § sored SuRerd B ¥

(C) In both, gametophyte is green. T ¥ g ;

(D) In both, regular alternation of generation is E&' :.E Eg; 22 g Frafia tﬂ_;i ‘i?lj?'lw frerar 2
present. o 3 Ry el %?'

Which option is true? :

(1) (C) and (D) (2) (A), (B) and (D) M ©am) (2) (A), (B)T (D)

(3) (B), (C)and (D)  (4) (A) and (B) @) ®B), (©)3 (D) 4 (A)a®B)

(5) Question not attempted (5 eﬂﬁﬁﬂ BRG]

60. Which of the following pair correctly matches a  60. fa=ifeiReq & & di=ar g1 o iR S9a
gymnosperm with its unique reproductive faftrse gor weror S gafera dxar 27
feature? () wrsEa — S Ui
(1) Cycas - Archegonia absent @) e — T I
(2) Gnetum - Motile sperm T — TR, GRI—uRETT
(3) Pinus - Monoecious, wind-pollinated g; Brrdie G
(4) Ginkgo - Non-motile sperm 5) LS
(5) Question not attempted (%) SR w2

61. During meiosis-I, synapsis and chiasmata 61- SRR oW —vem & SRM REftew w@
formation takes place respectively during - PHIYSHEl B AT HHEE B 8 —

(1) Zygotene and Diplotene stage (1) SREEHE Ug feeidi= arawem §
(2) Pachytene and Zygotene stage (2) IS UG SIS rawRr #
(3) Diplotene and Diakinesis stage (3) fe@IET g SrshEAfyg aewen 3
(4) Diplotene and Zygotene stage 4) fEdT vd SmdA srawerm
(5) Question not attempted (8) argRea ue
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62. The symplastic pathway of phloem loading 62 wdiwd #fST & RienRes uyr # wftafed
involves - B
(1) transport through cell wall (1) PR AT erT TRass
g; movement via plasmodesmata 2) STEISEEr & TEay A TR
involvement of proton pumps 3 Ner)
(4) direct requiren?ent ofl? enFe):rgy dependent (3) §ef g5 H :
sugar carriers (4) SR DT IATEDI BT YT MTIHAT
(5) Question not attempted (5) IrgaRa us _
63. Which disease in silkworm is not correctly 63. Y9 Wi § HHAT I IID AWTHRS AT
matched with the causal organism? gﬁﬁa T8) 27
(1) Maggot-Insect (2) Green muscardine— (1) Arite—_Fre (2) T FEST—F9F
Fungi R SR oo
(3) Polyhedrosis—Fungi (4) Pebfine—Protozoa @ —P9P () - Ll
(5) Question not attempted (@) erFaRa e
64. Consider the following statements and choose 84- f=feiRad Sl W) =R PR vd Ry T
{)hel correct answer from the options given fapodl ¥ ¥ TE SR BT T T —
elow -
Statement (I) : Many citrus and mango varieties Ho (D) : Rigw 7 om @ i fewr 4
Stat t (II) Sgow poll’y‘lelmbryml]ly. 1l T
emen : Some of the nucellar cells -
surrounding the embryo sac are F (I : T ® : H?F TP
developed into the embryos in IS HrlT ST yor H e
them. HACIGIR
1 L%
(1) ;Sstit;:z:,t (I) 1s incorrect and statement (II) (1) e (I) e d B (1) 6T 2|
(2) Both statements are incorrect. (2) ST B e B |
(3) Both statements are correct. (3) S o 9 &
(4) _Statement (I) is correct and statement (I) is (@) wor (1) T T P (1) 3T |
incorrect.
(5) Question not attempted (8) SrgaRa e
65. Match Column-I (Economic product or use) with ~ 65. ®fe-1 (feie Icarg a1 SUANT) &1 BicH-11
Column-II (Family) and select the correct option (fiel) & fram & wd R Ry W we |
using the code given below - el fabey &1 Tu9 ¥ —
Column-I Column-II ...,, Piemd-1 HictH-11
(Economic product or use)  (Family) :;:E (e Sarg ar E;'q'e:h'r[) (q‘}fi{aﬁ)
(A) Castor oil (i) Fabaceae (A) 3RV BT U (i) HI
(B) Fibre from Gossypium  (ii) Euphorbiaceae (B) Mfafm d Y9 (ii) JHRFITH
(C) Stimulant (Nicotine) (ii1) Solanaceae (C) IE1UF (ﬁﬁa;[) (iii) TSR
(D) Fodder legumes (iv) Malvaceae (D) B ﬁ':q:q (@R (iv) HTTIEY
(E) Millets (v) Poaceae (E) frdre ) (v) OTC=
Code - He —
00 Ay (B, (0r 0. R0 (B 1) () (AGi), (B)-Giv), (-G, (D)-(v), (B)-i)
< @ B, (G (), DR 1) @) (A, (B)-(v). (O, (D0, (E)-(v)
3) (A)-(v), (B)-(i), (C)-(ii), (D)-(iv), (E)-(iii) (3) (A)-(v), (B)-(i), (C)-(ii), (D)-(iv), (E)-(iii)
(@) (A)-(i), (B)-(ii), (O)-(iii), (D)-(iv), (E)-(v) - (4) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv), (E)-(v)
(8) Question not attempted (5) araRa g%
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66. Consider the following statements and choose 66. fam=iferRad HoHT ‘ZR’ foor @ifoiw v e
the correct answer from the options given el ¥ 9 98 SR BT 999 P —
below - ;

Statement (A) : Increase in hydrogen I () A qf?‘.&r
ion-concentration favours the SICRIECIRCIEE EB faaee @
dissociation of oxyhemoglobin. ggmar <l 2|
Statement (B) : At the lower O3 tension, FoF (B) : ¥ RIS 9919 W
oxyhemoglobin dissociates TR ¥
more readily in the presence of g :
salts compared to their absence. IguRefd &) gor H St
(1) Statement (A) and Statement (B) both are IuRerfa # 3rfdre ol & faafoa
incorrect. 2 7T 2
(2) Stat t(A)i t and Stat t(B)i ; :
in:;rrlézﬁ (A) is correct and Statement (B) is i ot (A)aﬁ? PO (B) ST 5|
(3) Statement (A) and Statement (B) both are (2) U (A) WEl © 3R HUH (B) Tod B |
correct. (3) ®M (A) 3R FHUH (B) 3T T § |
4 e
(4) isstit(f:;]:t (A) is incorrect and Statement (B) (4) o (A) To & 3R T (B) WA B
(5) Question not attempted (5) SrgaRT o
67. Medullary Bundle is found in - 67. wouT gved U O & —
(1) Boerhaavia (2) Salvedora (1) droverfear § (2) grederT §
(3) Bignonia (4) Nyctanthes (3 f=nfaar & @) Hge=org §
(5) Question not attempted (5) IrgaRa we

68. Consider following statements about Cs plants -  68. C, Ul & ford =1 FoHi W AR I —
(A) They have high water-use efficiency. (A) 399 S=d STal SUIRT e&rar Bl & | :
(B) High temperature promotes net (B) S=a Am9HE 349 Ui H AT

carbon-dioxide uptake in these plants. FHEA—STSI IS S T B IRT HRaT & |
(C) They have low salt tolerance. (C) 377¥ <1avr \e-Teferar &4 Bl 2 |
(D) Their productivity is high. (D) 371! SdEHAl Sog Bl & |
Which statements are true? DY HYT g 27
(1) (A),(B)and (D) (2) (C) and (D) (1 (A), (B)T (D) (2 (C)a (D)
@) (A),(C)and (D) (4 (A)and (D) @) A),©a D @ AT (D)
(5) Question not attempted (8) argaRa ueA
69. Which floral formula belongs to family 69 HIHT o1 G exXd Gl & Gad &7
Asteraceae? —~
/—\ 0 Br@fKa usCS A(S)GZ
(1) Bro® f Kpapp“ (s) A(s) G 28 o S
o ~
—~ @ Bre f K eeka
(2) Br ® f Kpappus A(5) G(Z) _
— @ B é’ K. JerA GT
(3 Bro f R o O A S s ol b
~ @ Bro § Ky, C) A Ga
Eo r
(4) Bro { K pappus C5) A(s5) Gz SI% S S Gl
(5) Question not attempted ©) 37 i
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70. In reference to sickle cell-anaemia which of the
following nitrogen base is altered in the gene
coding for beta chain of haemoglobin?

(1) Cytosine (2) Adenine
(3) Uracil (4) Guanine
(5) Question not attempted

71. Which enzyme protects bacterial DNA from
cleavage by its own restriction enzymes?

(1) DNA (2) Helicase
methyltransferase

(3) DNA ligase

(5) Question not attempted

(4) Exonuclease

72. Modern cyclostomes are included in -

(1) Euchordata, acraniata and gnathostomata
(2) Euchordata, craniata and agnatha

(3) Euchordata, craniata and gnathostomata
(4) Euchordata, acraniata and agnatha

(5) Question not attempted

73. Which of the following correctly describes the
role of Complex II (succinate dehydrogenase) in
the ETC?

(1) Transfers electrons from NADH to FMN

(2) Pumps protons into the intermembrane space

(3) Transfers electrons directly to
cytochrome-C

(4) Oxidizes FADH: and transfers electrons to
ubiquinone

(5) Question not attempted

74. Teratology is the study of -

(1) Infectious diseases (2) Stem cells

(3) Congenital (4) Cancer
malformations

(5) Question not attempted

75. Which virus is not used as cloning vector to
make transgenic animals?

70. el W T @ = § dErefeT @
dieT siger @ forg S| $ifeT § fFrafefad ¥

T P AECIo 99 uRdfdd gidr 87
(1) dEefRE (2) ufsf=
(3) e (4) Tarfe=
(5) IrgxIRa W
7. ST Uorgd JRINGT & ST B SIS W
& RRgaem vamdl g1 s & Tamr 27
(1) Sigay (2) foaw
[ERIFEEREES]
@) ST IS () TegdeITS

(5) Srg<IRa wed
2. e WTgdeNeRl BT aftAferd fear T
el

(1) gPrsel, UhfIuer Ud TRIREHel

'(2) g@rser, Hfger ud g

(3) g@iSer, HTET T TIREHET

(4) gPHISeT, THITIT TG TR

(5) argaRd ge

R f=fafad § & o9 ETC 3 ofwiad 1

(afdee feTggiors) o s &1 W& v

BT 57

(1) NADH ¥ FMN # goldgHl &1 emiaRa
AT &

(2) W1 & 3R feett s@@T™r # 99 Fxar B

(3) gelgg[l B WY WiEeIHm-C § RIaRd
CRGIR

(4) FADH, & ifiigd &am & 3R gelggi
1 gfafdeE # wFiaRa =ar ©

(5) SrgaIRd we

74. STAfST egIT & —

(1) GhES I ST (2) &H BIRrBR &1

(3) ST faspfaal H1(4) dax &1

(5) IrgmiRa U

75. gigulie o) 99F @ ol A H ¥ Bew
qIIRE Tl d18d & WU H BIH T8l I 87

(1) Adeno-associated (2) SV-40 (1) TSH-Tafites  (2) SV-40 .
viruses CIEEE:]
(3) Geminiviruses (4) Baculoviruses (3) SfEearRRs (@) YegeiarRE
(5) Question not attempted (5) srgafa e
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76.

“COP-29” in November, 2024 was held in - 76.
(1) Baku, Azerbaijan (2) Berlin, Germany
(3) Glasgow, UK (4) Sharm el-Sheikh,

Egypt
(5) Question not attempted

qaRER 2024 H “COP-29” T T —

(1) 91, sRASE § () gfel, S A

@) oy, B F (@) I a3, 3 A
(5) argiRa ue

77. Consider the given Assertion (A) and 77- f37 g aifd@ed (A) 3R @RU (R) W 3R
Reason (R) - _ BT —
Assertion (A) : Zinc deficiency in plants reduces afeped (A) : U § RNie o ~g=ar, Ry
apical dominance. U BT B B ¢ |
Reason (R) : Zinc deficiency affects availability BRY (R) : NfF & a1 fTeId &1 Suefer
of tryptophan. e &I y9Ifad Bl B |
Choose the correct option - E'i'é T fdaed gy —
(1) (A) is true but (R) is false. (1) (A) WS & I (R) Tad 2|
(2) Both (A) and (R) are true and (R) is the 2) SF1 (A)T (R) T8 & 3R (R), (A) BT |l
correct explanation of (A). TR 2 | :
(3) Both (A) and (R) are true but (R) is not the (3) I (A)T (R) Gl € offd (R), (A) BT HEI
correct explanation of (A). THI0T 8] B |
(4) (A) is false but (R) is true. (4) (A) eI 2 = (R) T8 21
(5) Question not attempted (5) srRe e
78. Which of the following characteristics are 78 famiforRad # & Bl faRIyart dacr smifure
present exclusively in Arthropods? # g Wl 87 :
(1) Schizocoelom, Radial symmetry, (1) sreadidE, kg wafafa, eI
Deuterostomia and Calcareous skeleton TG HieTIH ol Ddlel
(2) Schizocoelom, Bilateral symmetry, (2) srzwdieE, fgured wHfRfd, dereEar e
Protostomia and Chitinous exoskeleton HIgfe e TR GLAR
(3) Enterocoelom, Bilateral symmetry, (3) T=xrdeiE, fgured wafAfa, deReIfar |
Protostomia and Calcareous exoskeleton GARBLG] SES I A
(4) Enterocoelom, Radial symmetry, 4) T=dem, o TafRfy, WA gd
Protostomia and Chitinous skeleton . FIEfed & hla
(5) Question not attempted (5) srg<Ra ge
79. The type of placenta in which uterine epithelium 79 S[URT FT I8 WoR forad T4 IuHen I
and uterine connective tissue is eroded and TierR) SIS Sad &fdusd 8 ar g al
chorionic epithelium is found in contact with PIRAH  IUBl AP ECNCIECI RG]
endothelium of maternal blood vessel, is called TerRfifogd ©§ Hwfed Yedl B, HEaldl & —
T (1) RreEdRae weE=l
(1) Syndesmochorial placenta @) SEioeeiRifEe ST '
(2) Haemoendothelial placenta 3) TRREEIR SN
(3) Endothelio-chorial placenta @)
(4) Haemochorial placenta SIS <]
(5) Question not attempted (8) SrgaRa o
80. When the ribosome encounters a stop codon in  80- [d VgET mRNA H GHGA HISH T faerar
the mRNA, during translation, which one of the 2, dl argared & aRM, fAEfoRed ¥ q dH
following binds to the stop codon? [HOT HreE 9 Sl 27
(1) Rho factor (2) Termination factor (1) I PR (2) 99T HRF
(3) Release factor (4) Sigma factor (3) B FRE 8) RyEar HRG
(5) Question not attempted (5) argaRRa e
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81. AB is a thin uniform rod of length L and mass 81- AB U UH@AMN Udell B &, iaa! d@ars Law
M. A uniform disc of radius ‘a’ and mass M is T M; & | 3T a 9 gaHE M, 37 Udh
fastened at the end B of the rod so that the disc THAAN THd] B @ R B TR 39 UOR IS
and rod are coplanar. The centre of the disc is at 2 dIfe B duT Ihdl TP & adf § & | ddhdl
B (see figure). The distance of the centre of disc ® B BR 2 (R <) | 9ol & = D,
from the centre of mass of the combination is - GG & G209 B 4 U 8 —

: h x &)
LM, LM,
1 LM 2) LM

M) Zoa,+mp) @ vy g TR v o)

L 2 LM]_ St ]
) e 4 = () LMai (9) .ty
® 2000 @ Eﬂ‘f 2(M;+M;) (My+M2)
(5) Question not attempted (5) eraRa TeA

82. Calculate the increase in internal energy of kg 82 100°C W 1kg UMl & MRS FHoil H gl B
of water at 100°C when it is converted into steam MOET HN W9 39 FHAF d19 3R 100kPa TR ¥
at the same temperature and at 100kPa. The ¥ uRaffa fbar oiar £ U &R 919 @7 '

- : 3
density g)f water a‘nd steam are 1000kg/m” and 99 1000kg/m?® 3R 0.6kg/m? &1 T B
0.6kg/m” respectively. The latent heat of & 2
vaporization of water = 2.25 X 10°J/kg. LelEat T@ 1 =225 x 10" Jikg
(1) 2.08 x 10°] @) 2.08 x 10°J (1) 2.08 x 10°J (2) 2.08 x 10°J
(3) 1.7 x10°] () 1.7 x10°] (3 1.7x10°] (4) 1.7x10%]
(5) Question not attempted (5) giRa wed
83. The efficiency of a Carnot engine working 83. T T YeRl & ¥ HEGN UG &M SoH
A P
between two heat reservoirs is 34 The & e % 2| T HeR @ A 99°C ¥ Afe
temperature of hot reservoir is 99°C. If the 4
temperature of the cold reservoir is increased by IS SR T AU 6 ¥ eI faar Sy, A e
0, then efficiency decreases to %. What is the HEHY % 8 9Tl 81 8 BT 5T 91 27
value of 6?
(1) 62K (2) 31.5K
(1) 62K (2) 31.5K
(5) Question not attempted (5) srgaRa uwA
84. A particle of mass m moving in a one- 34 TIHM m BT T $U1 Uah fad fova | wifd
dimensional potential given by - PR BT B, Gl 39 UPR B —
+o0, <0 +co
V() =11 A 1 ‘ x<0
(X) [EmeXZ' x>0 V(X) {%mw2X2, £.15
The energy levels (E,) are given as follows — il WR (E,) 39 UoR Ry oI § —
(Heren=0,1,2,3, ......... ) @n=0:1,2,3;......... )
1 3\ hw
M (n-3)ro @ (n+3)7F @ (2n-)ho @ (2m+3)%
) 3
@ (2n+3)ho @ (2n+3)ho @ (2n+5)ho @ (20+%) ho
(5) Question not attempted (5) araRe T
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85. In a region of space, a particle of mass m has a 85

wave-function -
forx>0

: Nxe~ X
Yilx) = { forx< 0

What is the potentiai energy of particle if the
total energy of particle is zero?

(Here a is a positive constant)

() 2 (a2 - %)

2m X

@ = (a2 - %)

2m X

h? 2 2a
@ (@ +5)
(4) Value of N is needed to answer this question
(5) Question not attempted

86. The period of vibration of a galvanometer coil is 86
4s. The amplitude of its vibration decreases to

%“‘ of its original value in 46s. The natural

angular frequency of vibration is given by -
1

(2) 2 2
{(0'5) e ]

(3) [(0.05)2+“72]% @ [(0.5) +f;_i]§

(5) Question not attempted

™ [(0.05)? +§]§

87. «<x2> for the states of a harmonic oscillator is 87

given by ;%. Here value of A is -

(1) n (2) 2n+1
3) n? (4) 2n
(5) Question not attempted

88. Unpolarised light of intensity I passes throughan 88
ideal polarizer A, another identical polarizer B is
placed behind A. The intensity of light beyond B
is found to be I/2. Now another identical
intensity beyond B is now found to be I/8. The o
angle between polarizer A and C is -

@ [(0.05)? +’1—3]%

JiaRer & Ue &5 § mgTHAE & Udh B B
forg a¥T—%e ® —

Nxe ™ @& folux>0
lp(x)_{ 0 & forux <0
B B Refast Sol @& 2 afe s &1 Fa
Sl I B?
(@& a TP vATHS Fdie 2)

(2 _ﬁi(az _2)

2m X

(4) 39 YT FT IR o1 @ folg N A Bl
AMITIHAT &

(5) argefe e
U URMEY BSell BT HUF B 4s B | 39D
S BT AR 46s T AN D — AP °E
AT 81 BT B W@rifad vy Amghi g9
YHR & SR B —

(1) [(0.05)2+“—:]% (2 [(0.5)2+§]2

@ [(05)2+ 2]

(5) SreIRa W
e EEite  Qferd @ el @ feg

<x2>,%mﬁmw%‘laﬁmmmﬂ%—

(M n (2) 2n+1
(3) n? (4) 2n
(5) arfaiRa w3

drerar 11 Ifad vore Udh eyl gas A9
X [oRdl 2| AD 41D TS 3R A9 gab B
G W B BY W GBI B A 2 a8

ron ST 21 319 AR BD d/ UH IR GHM 4ad
polarizer C is placed between A and B. The |gf ir

C<ET ST 21 BY W dgdr 3§ /8 urs STl
21 gas AR CH AT BT DU E —

(1) 30° (2) 60° M 30° (2) 60°
@) o° (4) 45° @3) 0° (4) 45°
(5) Question not attempted (5) SrgaIRe e

03- A Page 23 of 40




89. The energy of a free electron including its rest 89 U Haw goEe @ Sul £ Rrd @
mass energy is E. What is the phase velocity of foRm gomE St o afefea &) ESEEE RG]
wave packet associated with motion of the Ty A Hag T fUed &1 s a7 Fr 22
electron? (Here symbols have their usual (et Gddt D vafer st )
meaning) : s _ g

L : )] T (2) i
O (mz_mg)%c (2 (mZ_m(z))%c (mz—mg):c (mz_:g)zc
2 E (m%-m3)2c T
2 _m2 —_— b e e L 4 2
@ @ (én)u)zc @ (mremie 3) &) @ (m24m2)zc
C_Z C
() Question not attempted (5) SrgaiRd v
90 If a proton and electron have the same de-Broglie  90- ufe Wielq &R soge & S—sivel o
wavelength, then - A B, o —
(1) Momentum of electron > momentum of (1) gorget &1 W > WS B GI
proton & 2
(2) Kinetic energy of electron < kinetic energy (2) Tege= B TS FHolt < W B fer
of proton Sl
(3) Momentum of electron = momentum of (3) oraed &1 WA = W BT G
beion = R
(4) Kinetic energy of electron = kinetic energy
of proton Sl
(5) Question not attempted (5) ergalRa ueA
91. Consider the following statements for resonance  91- yoifeq <o/ & e @ fow f=faRad
in forced oscillator and choose correct option - FoAl W) R ¥ ok 98 R ﬂef =%
Statement (A) : The amplitude resonance occurs
when the driving frequency is B (A) : ST A T &A1 & O AT
slightly lower than the natural cmqi%r aAd P Ui JMgRRT q
frequency of the oscillator, 1S T B 2. Y argHET @ qRAT
depending upon the magnitude A :
of damping. The velocity W TR Bl 2| 9T AR 9 B
resonance occurs when the two ARG gt avmeR Bl €, @R
frequencies are equal, whatever SR
the damping may be. %

Statement (B) : At amplitude resonance the DU (B) : I TG WR fAvenny= =rers
displacement lags behind the I NS vEar & o9fE T W
driving force by T, while the i s : 3 5
velocity at resonance is always E_;' FIST Tei 961 D Heer H Ted]
in phase with the driving force. : gl

(1) Both the statements (A) and (B) are false. (1) Per (A) 3R (B) ST s |

(2) Statement (A) is false and statement (B) is

trile; (2) T (A) I B 3R FH (B) T B |

(3) Both the statements (A) and (B) are true. (3) FT (A) AR (B) THI W |

4 - .

(4) ?t]atement (A) is true and statement (B) is (4) PorT (A) e & 3R e (B) AT 2|

alse.
(5) Question not attempted (5) srgaiRe wes
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92. In a collinear collision, a particle with an initial 92. yp WEY TFR H, URME oA vo diell T
speed vo strikes a stationary particle of the same F GHH ST D Uh RN HT F THIT
mass. If }:he f}lnal tptgl Ilcilll(i:tic.energy is 5}(1)% 2| gfe sifem &a TSt Sl LSl R St

eater than the original kinetic energy, then N .
gagnitude of the relgative velocity betv%gen the ¥ 50% 3ifif@ &, 1 cIR P 1, A T F
two particles, after collision, is - 9 e o7 B ARATT B —

(1) V2v, (2 2 M vav, B

\ \% Vo Vo
@) % @ o Sert e
(5) Question not attempted (5) 3rg<iRd g

93. Consider the following statements in the context 93- &g & fH/Her del & wHed H
of Coulomb’s Law/Coulomb Forces - fr=fafed ol R AR & —

(A) Coulomb’s Law is valid only when the (A) e HT FRW T A9 BT © o9 Tde
charges are at rest. RerR B B
(B) Coulomb’s Law is valid only when the (B) hotrd &I W T w79 BT © 79 STraei
separation between the charges is smaller @ 4 @ g NG B AHR A A Bl
than the nuclear size. = '
(C) Coulomb Forces obey Newton’s Third Law (C) el §1 ed & WA @ dArax 19 @
of Motion. T H_A © |
Select the correct answer using the code given 9 Ry MU T FT ST RS FEl SR
below - i — '
Code - @He —
(1) Both (B) and (C) are correct. (1) (B) 3R (C) 3l Wl €|
(2) All three (A), (B) and (C) are not correct. (2) (A), (B) 3R (C) =T & =& € |
(3) Both (A) and (C) are correct. gil ~z (3 (A)3R (C) 3=l eI B |
(4) Both (A) and (B) are correct. =L= (4 (A)3IR (B) T HEI £ |
(5) Question not attempted (5) \’ﬂﬂﬁ'ﬁﬁ' PEC
94. Which one of the following statement is NOT 94 Sumifqed el & ddg & fFrafoled 4 9
 true regarding Thermodynamic potentials? PIET BAF A el 87
(1) . Enthalpy remains constant in a reversible (1) T Topaold TG TG UHA A
isobaric adiabatic process. o) Rer wEdl B
(2) The Helmholtz free energy remains constant (2 gaadl THeTIAfM® UHH B SR
during isothermal isochoric process. TRIeeS ol Rer w&dl 2
(3) The work done in a reversible isothermal 3) TP SopAYT AT UEH & fRaT T
process is equal to the increase in Helmholtz YeEiee A St # gfy B IR 2
free energy. 3 5 '
(4) For a reversible isobaric process, the change @) ©P SerAvia R T B e, T
. in enti-lalpy is equal to the heat absorbed. 3 qRad RIS S @ qER ST R
Question not attempted
(5) SF<IRG W
95. The electric field due to an electric dipole is 95. U® Jgd fRyd @ SR S fAEd &=
E = —2—(2cos6f + sin6b). E = —2—(2cos6f + sin6h) & |
TEYT 4TEYT
The equation of the electric field lines on the x-z x-z a0 IR faega &3 @Rl BT GHIHIT B
plane in terms of Cartesian coordinates is - ol § BT 2 —
(Here C is a constant) (@Ef s ReRi® &)
M) 22 =0x> (2 &+ 2P2=cx' (1) +222=Cx® (@ x2+2)=Cx
@) (P+2’=Cx* @) (x*+2’)’=Cx’ @) Z+25°=Cx* @ x2+22*=Cx?
(5) Question not attempted (5) argaRa wE
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95 Whlch of the followwg option is NOT correct?
el The i isospin quantum number / behaves as an
© angular momentum and follow laws
~of addition of angular momentum.

'-;;(2) The third component of isospin I is
‘conserved  in  both  strong  and
~ electromagnetic interactions.
~ (3) The isospin quantum number / is conserved
. only in electromagnetic interactions.
sl (4) ‘The third component of the isospin I3
. behaves like a scalar quantity and follows
. algebraic summation.
(3 Question not attempted
.~ 97. When a collection of two-level system is in
;'-f-'equlhbnum at temperature To, then ratio
- of population in the lower and upper energy
~ levelsis 2:1. When the temperature is changed to
T, thenratio is 8:1. Then -
oA ) To=4T ' (2) To=2T
e 2To (4) To=3T
= _1:5(5) Question not attempted
A 98 ‘A plane wave of angular frequency w and wave
R L if‘numbeerrlopagates in a neutral, homogeneous,
. anisotropic, non-conducting medium with p = 1.
- Which of the following option is incorrect?
§ KB=o0 (2) Distransverse to K.
i @ Hi is transverse to K.(4) E is transverse to K.
5 e (5) Question not attempted
© 99 The headlights of a distant car are 1.4m apart.
- If the diameter of pupil of eye is 3mm, then what
S 87 the maximum distance at which the two
- headlights can be resolved? Consider headlights
- aspoint sources of wavelength 500nm.
A1) 3448m

AN (2) 68.96m i
. (3) 34.48m (@) 6896m E

'?',(5) Questmn not attempted
o 109 The expectation value of any time-dependent
operator A(t)- obeys the followmg equation -

:-',,..:f_fr;,}m in280 _ _ac, n) - in (249)
= ([A®, HOD + in (%9
~([A®, HOD + i (42

<6A(t))
at

' T a(A(t))

' '-'_";j-:j'».;?fs}*’ih am(t» -

| '-?"'w m""*“‘” {[A®,HEOD) -
: {5)‘ Questmn not attempted

96. f=forRaa # 9 B9 APy T 781 272
(1) 9#9IR® Yawvr ddicq vl [, Iofg Hadr
Pl TRE FTER HT © AR Bofig Gaq &
ART & 9ET BT UTeE BRal B
(2) g IR® UahvT BT TR Tk [; Yool g
qgTggeIy fafharet # wRfE vear 2
() gw\IR® YaHhoT daieq Gl [ dad
Jegagaeg sia-foramelt § wefea 7
(4) IR ® TaHh T BT TRINT "ed [3 Uh eyl
]I BT TRE FIBR el & 3R SorTordRT
w9 I el ST 2 |
(5) Srg<IRa we
97. g fgwR Mol &1 Te WU 99 T) ) AR
H g a9 1 3k 9= oul R § o

&7 U 2:18 | 99 a9 gRafid g T8

€, 9 U 8:12 | a9 —

(1) To=4T (2) To=2T
(3) T=2To (4)To = 3T
(5) 3rg=iRe ye

98. oM IMYRT w 3T THT FEAT K a1l T et
TR p=1d U SadH, g9, RvaefRe,
Tl HEgH H HalRkd g € 8| frefaRad
fdbedl § § ST fabey Tora 272
MEB=0 (2 D,K® I |
(3) H,K® IguRer 81 (49) E, KD e 2|
(5) sraRa we

99. X Rerd (& &R & WA (headlights) 1.4m 9
9% € | A 3G BT gaell &1 A 3mm €,
I8 AHTH g R 8, o/ W T 37
fufed fpy <1 Fda §? swrddi @1 500nm

e @ fig Wt B w7 § A

(1) 3448m (2) 68.96m

(3) 34.48m (@) 6896m

(5) SrgeiRe ueA :
100. 54T i1 FHI—3Nfd TBRS A(t) HT Y= 7

f=faRaa wfiewor &1 e ovar & —

 in 2 = ([a@, KO - in (40)

@) in AW a“‘“” = ([A(®), H(D)]) + iR (3_@)

@) h""‘“” ~([A®, HOD + if (42)

@ in 222 = ([A@D), HEO)D) — ik ("’—’“fl)

at
(5) a:rfrﬁa RS
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101.

Read the Assertion and Reason carefully for

radioactivity and choose the correct option -

Assertion : Radioactivity of 10® undecayed
radioactive nuclei of half-life of 50
days is equal to that of 1.2x10%
number of undecayed nuclei of some
other material with half-life of 60
days.

Reason : Radioactivity is proportional to

half-life.

(1) Both Assertion and Reason are true and the
Reason is the correct explanation of the
Assertion.

(2) The Assertion is false but Reason is true.

(3) Both Assertion and Reason are true but
Reason is not the correct explanation of the
Assertion.

(4) The Assertion is true but Reason is false.

(5) Question not attempted

101.

fsaefiar & forg afiees iR $ROT &7 &=

¥ 2 3R 9 e g —

JfHYd : 50 fedl @1 iy @l 108
gfgafed fsarpft  Tf¥wi &
feefiar 60 A1 o erf—emy ar
fslt o ugred & 1.2x10% srfqafeq
A} B AT B TR B |

HROT : ST F—RY & FHUA BT
=

(1) 3P IR HRI SHT T & 3R BRI,

JAfAHA B el AT 8|
(2) JAHUT I & olfhd HRU T T |
(3) 3 3R BRI SHI G B lfh BR,
AMFYT B e IR B B
(4) frpas U © AfhT R T B |

(5) IR g

102. White coherent light (400 nm - 700 nm) is sent  102. R # T%1 & T9a Rere YN o Refed & 94
through the slits of a Young’s Double Slit el FHE THTI (400 nm - 700 nm) TS ST
li,]xpelrimentoirsl figure. dThlf separation best(\)zvcen S Rren o e =& 0.5 mm ¥ 3k =M
the slits is 0.5 mm and the screen is at 50 cm R i AR
away from the slits. There is a hole in the screen % ¥ 50 e ® €1 I A B X ﬁ
at a point 1.0 mm away (along the width of the Lomm gy (s 31 A @ srgfew) v ﬁg
fringes) from the central line. Which W s B g % 9 sF 9 gerer Ao
wavelengths will be absent in the light coming DBl dTeed quRerd sifl?
from hole? : i T

I 1.0 mm S T ! lllfmm
— T | _>0.5Jn:m|
— 0.5 mm —_— |
== | | EE
= e i [ () 400 nm 3R 667 nm
(1) 400 nm and 667 nm e 2) 420 nm 3R 500 nm
(2) 420 nm and 500 nm A e
(3) 420 nm and 667 nm (3) 420 nm ¥R 667 nm
(4) 400 nm and 600 nm (4) 400 nm 31X 600 nm
(5) Question not attempted (5) argaiRa weA

103. Angular width of central maxima in the 103.T% THe Refc & WeTEwR fagdw uftwy #
Fraunhofer diffraction pattern of a single slit is P Ias B B ALE 6000 A aXTe
measured using li‘ght.of vs..'avclength 6000 A. 3 Y B [YANT ¥ A o 1 o9 59
When the slit is illuminated by another Ree BT TP o1 R | YSIRI far ST
wavelength, the angular width decreases by
30%. What is this new wavelength? %'_?ﬁ PIONT TASTY 30% B & A 2 | ?.Ts’ i
(Assume angular width to be very small) qereed @ ar 87 (ﬁ“ﬁu HlSTs Bl 3 HH)
(1) 4200 A (2) 3600 A (1) 4200 A (2) 3600 A
(3) 1800 (4) 5400 A (3) 1800 A (4) 5400 A
(5) Question not attempted (5) argeiRa we
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104. Three concentric metallic spherical shells of
radii R, 2R and 3R are given charges Qi, Q; and
Qs respectively. It is found that the surface
charge densities on the outer surfaces of the
shells are equal. Then, the ratio of the charges
given to the shells, Qi : Q2 : Qs is -
1) 1:4:9 (2) 1:8:18
(B)-1 35 4 1:2:3
() Question not attempted

105. If we look at mirror nuclei, we find that their
binding energies are almost the same. Using this
empirical fact alone, the nuclear force can be said
to be independent of which one of the following
properties of nucleons?

(1) Distance between (2) Spin
nucleons
(3) Parity (4) Charge

(5) Question not attempted

106. Convulsions are caused due to the deficiency of
which vitamin?
(1) Thiamine (2) Ascorbic acid
(3) Riboflavin (4) Pyridoxine
(5) Question not attempted
107. Match the Column-I (Polymer) with Column-II
(Corresponding monomer unit) -
Column-I
(Polymer)
(i) Glyptal
(ii) Bakelite
(111) Nylon-2-nylon-6
(iv) Buna-N
Column-II
(Corresponding Monomer Unit)
(A) Glycine + Aminocaproic acid
(B) Phenol + Formaldehyde
(O) 1, 3-Butadiene + Acrylonitrile
(D) Ethylene glycol + Phthalic acid
Correct code is -
(1) @)-D), (D)-(B), (iii)-(A), (iv)-(C)
(2) (i)-(D), (ii)-(B), (iii)-(C), (iv)-(A)
(3) (i)-(B), (i)-(D), (iii)-(A), (iv)-(C)
@ (-(A), (D)-(B), (ii)-(C), (iv)-(D)
(5) Question not attempted

104. oo R, 2R 3R 3R @/ 9 Hadfwd enfeas
MATBR BIRN BN HAM: Qy, Qo AR Q3 A
fAu v &) a8 urn A R B P @ ad
Hasl W YOI 3T g9« a¥IeN & | 9, B
@1 faU 77 37reRll Qi : Q2 : Q3 &I U & —

1).1:4:9 (2):1::8¢18
(3):1:3:5 4 1:2:3
(5) IR UeA

105. g g\ <Uor AT $T <, o 89 U § b
DI FIF HOllY T GEE Bl £ dael
SAD] ATJAfded ToF & SUANT | AMNag g
BT gderai=l & FrforRad on # & fara w
T B8 I Aol &7
(1) it & w1 (2) =

= Gl
= (3) gHaT (4) 3rasT
(5) srgaRa ueA :
106. 7R1s v fvs faeIf®= &) sreudr & &Ror glar
g7
(1) armd= (2) woifde 3
(3) YrzaITRIfaT (4) ursReifra
(5) 3rgeiiRa wed
107. BictH—1 (IgT®) B Bicw—II (HeRd Thad
$H1S) | GHferd BTy —
Bre—1
CEEED)
(i) feaea
(ii) é‘cﬁ?rf'zt
(iii) TIAF—2—ATTATT—6
@(iv) &LT-N
P11
(HaferT vpad sHE)
(A) TN 4+ THHTDUISS 3R]
(B) BT + Biifcesss
(©) 1, 3-eTeTegd + Uharggrsd
(D) URIeA Targdiar + At et
HEl HE © —

) ©)-D), (iD)-B), (ii)-(A), (iv)-(C)
@) (©)-D), (ii)-(B), (iii)-(C), (iv)-(A)
@) (i)-(B), (iD)-(D), (iii)-(A), (iv)-(C)
@) (©)-(A), (ii)-(B), (iii)-(C), (iv)-(D)
(5) srgaia ue
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108. fofeiiae AT BT S8 AT B A

108. Arrange the following compounds in increasing
order of their wavenumber of absorption - T B g4 HH H e B —

O <=0, @) [>=cn, O <O=CH, @ [>=cy,

2 CH, b2 CH,
(i) ) [ >=cH, i (v) [_=CH,
(1) (i) < (iv) < (iii) < (ii) (1) () < (iv) < (iii) < (ii)
(2) (i) < (i) < (ii) < (iv) (2) (1) < (iii) < (i1) < (iv)
(3) (1) < (i) < (iii) < (iv) (3) (i) < (ii) < (iii) < (iv)
(4) (iv) < (iii) < (i) < (i) (8) (iv) < (iii) < (ii) < (i)
(8) Question not attempted

109. Consider the following statements - 109. f=forRed weml W faar @ifvw —
(1) For Arrhenius equation, the slope of the graph (i) AmParRT TRBRT & AT lnk HQJT 1 & T

I% BT T Eaaﬁn%‘ GIETEa-ﬂW
$ull, R = Wcﬁ%?ﬁﬁﬂﬁﬂ?ﬁﬁ%l

(i) 9 B8 vt Affpar &) % 1 T Fa
2, @ 99 fFRIue sed &

(iii) SRS, AAfHaT BT Fred o Hoir |
gRaas aTex, JfAfhar & g% &) gRafla
BT 2 |

T BUF B /8 —

(1) 1 (1), (i) 3R (iii) @) Paa (i)

Ea

1 2 =
Ink v/s L e where

between

E. = Activation energy, R = Universal gas
constant.
(1)) When a substance reduces the rate of
reaction, it is called inhibitor.
(iii) A catalyst changes the rate of reaction by
changing the Gibbs free energy of reaction.
The correct statement/s is/are -

(1) All (i), (ii) and (iii) () Only (i) , (ih) D]
(3) Only (i), (i) (@) Only i), (iii) (3) e (i), (ii) () =3 (), (iii)

(5) Question not attempted (5) STgIRT I

110. Which is not a postulate of Valence Shell 110-39% & ®F¥l WiTodr @19 soge T
Electron Pair Repulsion (VSEPR) Theory? Q‘f%l’c'l'TqLUT (@ wasdiem) Rigia & afron

(1) The shape of molecule depends upon the el &7
number of valence shell electron pairs (1) m FB?III P \’HIGQN
(bonded or non-bonded) around the central = SuRerd ¥ B sﬁ?@’”l:r ?I‘Tﬁ
atom. S awaaﬁﬁ)aﬁﬂ@rwﬁﬂﬁao—ﬁm

(2) The repulsive interaction of electron pairs
increases in the order :

Bond pair-Bond pair < Lone pair-Bond pair
< Lone pair-Lone pair

(3) Pairs of electrons in the valence shell of
central atom repel one another.

(4) The pair of electrons tend to occupy such
positions in space that maximize repulsmn
between them.

(5) Question not attempted

@) seregt g & we wRvEor o

ffaRad w9 4 gl € ¢
el H—SATEE I < TSI Jr—ermae]]
T <THE! TH-Tp1 JH
(3) F= =AY & WIAGHT DY H SuRYS
SolgE [ T Th—gEx Bl UfIdNd B 2 |
(4) soige™ g™ W ¥ 99 Refai § sralem
M BT TN 7 &, e ey 99a

72 gfaeyor ifdreaq 2|
(5) srgaiRer oo

111. The number of stereoisomers of the complexion 111 Hal @F [Co(en):Clo]* & 3w rraei
[Co(en):Cl2]* is - (RIRFRIgART) @7 ¥ & —
(1) Two (2) Five (1) < (2) o9
(3) Three (4) One (3) = (4) T

(5) Question not attempted

(5) argaRa ued
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112.

113.

114.

115.

116.

The consequences of genetic disorder Wilson’s

disease are —

(1) Mg accumulation in the liver, kidney and
brain.

(2) Ca accumulation in the liver, kidney and
brain.

(3) Fe accumulation in the liver, kidney and
brain. :

(4) Cu accumulation in the liver, kidney and
brain.

(3) Question not attempted

Correct increasing order of boiling points of the

hydrides is -

(1) SiH4 < NH3 < HF < H2S

(2) SiH4 < NH3 < H2S < HF

(3) NH3s < SiH4 < H2S < HF

(4) SiH4 < H2S < NH3 < HF

(5) Question not attempted

Which one of the following metal oxides will not

be reduced by aluminium in thermite reaction

below 1500°C?

(1) MgO (2) CrO

(3) FeO (4) NiO

(5) Question not attempted

Which one of the following statements is

incorrect?

(1) Ni(CO)4 has Ni in zero valent state and is not
square planar. '

(2) [Fe(CO)4]* has iron in (~II) state.

(3) Fe2(CO)o has three bridging CO groups
joining two metal atoms.

(4) V(CO)s has V in zero valent state, has
unpaired electron and it remains monomeric.

(5) Question not attempted

The correct order of reactivity of the following

compounds (A, B, C and D) in S~1 reaction is -

(A) C¢HsCH2Br

(B) C¢HsCH(CH3)Br

(C) C¢HsCH(CgHs)Br

(D) CéHsC(CH3)(CsHs)Br

(1) (D)< (A) < (C) < (B)

(2) (A)<(B)<(C)< (D)

(3) D)< (C)<(B)<(A)

(4) (A)<(C)<(B)< (D)

(5) Question not attempted

112. graiftie fAeR fded I & gRom 2 —
(1) TP, < 71 ARTH | Mg &1 G99
(2) g%d, < dA1 4Rass § Ca &1 |-
(3) IFHa, T qAT ARTH H Fe P HAY
(4) 7pd, T T ARTH H Cu BT FH
(8) srgaRa W

113. gregissl & FaAIDI &1 Wel 9gdl HH & —
(1) SiH4 < NH3 < HF < H,S
(2) SiHs < NH3 < H>S < HF

(3) NH3 < SiH4 < H>S < HF
(4) SiH4 < H2S < NH3 < HF

(5) srg<iRa U

4. frafaRea # 9 ST o1 sifadss 1500°C ¥
A omige iffshar # vegHim g1 SruaRid
&1 Bl &7
(1) MgO @ Cro
(3) FeO (4) NiO
(5) Srf<IRd W

115. fpafaRea § @ oA HoF Torg 27

(1) Ni(CO): 9 Ni T Garel s@en # g iR

BN GHTATT Tl 2 |
1 (2) [Fe(CO)4J> H SMaRA, (-II) 3faeerm # 2|

(3) Fex(CO)o ¥ &I €T URHIIRIT Pl Sile arel

A ST CO w7g £ |

(4) V(CO)s # V T ISl arawen § 8, 5o
3gFAT golggd & 3R I8 AFMRE TEdl

Bl
(5) Ir<IRd WA

116. frafifed D@l (A, B, C T D) &1 Snl

siffshar # fehamefictar &1 w8l %9 & —
(A) CeHsCH2Br

(B) C¢HsCH(CH3)Br

(C) C¢HsCH(CsHs)Br

(D) CsHsC(CH3)(CsH5)Br

(1 D)< (A)<(C)<(B)

(2 (A)<B)<(C)< (D)

(3) D)< (C)<(B)<(A)

(4) (A)<(C)<(B)<(D)

(5) srg<IRa WA
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117.

118.

119.

120.

The
compounds among the following is -

incorrect statement for interhalogen

(1) In general interhalogen compounds are more
reactive than halogens (except fluorine).

(2) These are all covalent molecules.

(3) These are all paramagnetic in nature.

(4) At 298 K except CIF all are volatile solids or
liquids.

(5) Question not attempted

When 2.0 g of a non-volatile non-electrolyte

solute is dissolved in 100 g of benzene, then the

boiling point of benzene is raised by 0.635 K.

Calculate the molar mass of the solute (K; for

benzene is 2.53 Kkgmol™) -

(1) 39.84 g mol™! (2) 79.68 gmol™! =

(3 119.52gmol” () 15936 gmol”! o

(5) Question not attempted

Which of the following statements are correct

regarding Co-ordination compounds?

(i) [Co(NH3)s]**< [Rh(NH3)s]** < [Ir(NH3)e]**
(Ao crystal field splitting).

(i1) H20 < CO < NO; < CN~ (Order of splitting
strength of ligands in Spectrochemical
series).

(ii1) Ac = g Ao (Relation between tetrahedral A,

and octahedral Ao crystal field splitting).
(iv) There are 2 unpaired electrons in d* low spin
octahedral complex.
(1) Only (i), (iii)
(2) Only (i), (iv)
(3) Only (i), (iii), (iv)
(4) Only (i), (ii), (iii)
(5) Question not attempted
Which of the following are characteristic
properties of crystalline solid?
(a) Definite geometry  (b) Isotropy
(c) Sharp melting point (d) Long range order
Choose the correct option -
(1) Only (a), (c) and (d) (2) Only (a) and (b)
(3) Only (a), (b) and (c) (4) Only (b) and (c)
(5) Question not attempted

118.

119.

120.

(5) JgaRa yeA

117%?1%1@3#1#%@%%@%%@“2“‘

I PUT & —

(ﬂwqmamam?r%?ﬁmmé?hmﬂ‘ﬂﬁ'r‘}

aﬁmaﬁ%{aamrsﬁam%mﬁaﬁw% i
faRa) | - ! :

@ ¥ T FEEdTE v B %“1

@) A wh srggEEE vt B o

(4) 208 KT C1F$a%ﬁaavwﬁwﬁam
q1 59 T |

(5) JgalRa geA

mzwawﬁaégﬁmmﬁmﬁ

100 g &0 ¥ oo o ¥, W AN B

Wﬁo&n(ﬁq%am%lﬁaa'

%Wwﬁwaﬁm(ﬁq$m

Kb = 2.53 Kkgmol™! 8) —
(1) 39.84 g mol™!
(3) 119.52 g mol™!

(5) srg=iRe weA

(2 79 68 g mol“‘
(4) 15936 ¢ mol‘1

e AR e ﬁmmaa

S H | DITH FE 87

() [CoNH3)eJ**< [Rh(NHi)el**< [Ir(NH3)513*_VV.-*- o

(Ao fobeeer & fures)|
(ii) H20 < CO < NOj < CN‘“( ;
ﬁvﬁﬁ%ﬁsﬁﬁmmﬁmm)

(iii) A = - Ao (T A, T mema

Aomaéaﬁmﬁm)l ScPG i
(iv) d“ﬁﬁr T aamaﬁa Haet § 2 : ]
(1) B9 (i), (iii)

(2) Bad (ii), (iv)
(3) Baa (i), (iid), (iv)
(@) Baa (), (i), (i)

(5) IrgaRa wed

fr=fofea 4 ¥ oFR Waha a‘m $
IO ToT §? Rt

(2) FfEa wfafe (b)wé‘f?lw -
(c) Ta TP (d)a‘rémmm R

e fwey &1 oga g — :

(1) B4 (a), (c) T (d) () %aa(a)qa (b) e
(3) B (a), (b) T (c) @) m(b)@(c) |
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121,

122,

123.

124.

125.

Which element is required as cofactor for all
enzymes that utilize ATP in phosphate transfer?
(1) Mg (2 Ca

(3 Fe (4) Zn

(5) Question not attempted

The principal emulsifying agent for water/oil

(w/0) emulsions among the following is -

(1) Proteins (2) Natural and
synthetic soaps

(3) Gum (4) Lampblack

(5) Question not attempted

Pair of paramagnetic molecules is -
(1) O and Liz (2) O;and C;
(3) B2 and C2 (4) O; and B>
(5) Question not attempted

Consider the following Assertion (A) and
Reason (R) and choose the correct option -

contraction continuously
increases from element to
element.
Reason (R) : It is due to poor shielding by 5f
electrons.
(1) Both (A) and (R) are true and (R) is not
correct explanation of (A)
(2) (A) is false and (R) is true
(3) Both (A) and (R) are false
(4) Both (A) and (R) are true and (R) is correct
explanation of (A) :
(5) Question not attempted

(CHLC0)%0,
CH, - CH = CH, + HCl ——————> Major product (X)

Identify the Intermediate and Major product (X)
in the above reaction sequence -

Intermediate Major product (X)
+
(1) CH,—CH,—CH, CH,—CH,—CH,—Cl
2) CHi— CH—C"HZ CH,—CH,—CH,—Cl
Cl
+
@) CH;—CH—CH; CH3—~L;H —CH,
Cl
CHS—(le—('THz CH,—CH,—CH,—Cl

(4)
cl.

(5) Question not attempted

121.

122.

123.

125.

TG TIISH Sl Biehe IR H ATP &1
SERT &4 &, S8 Sy a<d B T8hRE B
¥ ¥ MIIIHAT BT 87

(1) Mg (2) Ca

(3) Fe (4) Zn

(5) IR ueA

farforiag & 9§ o7l /dd (w/o) AR & forg

T UHIEHS § —

(1) urd= @2 urqﬂ%rcﬁ e
SEEILCASICE]

(3) 7T (@) ot

(5) 3raRa weA

TR A3 BT H & —

(1) 0,19 Liz (2 0, TG C,

(3) B»Td C, (4) 0,74 B,

(5) argIRa wed

- for=feRaa affreeE (A) 92 &R (R) ) fdaR

HIfTg gd we! fAder gfhw —
f®A (A) : Uaesras 2oft ¥ UfeeHtas
AMHE Th aed | AN xd B
sﬂ?aﬂﬁﬂ?m%‘l
HROT (R) : T8 5fSlagii §IRT ool URRET &
PR BT B |
(1) g1 (A) 3R (R) 9 £ 3R (R), (A) BT Fa!
TR Tl &
(2) (A)3T ® 3R (R) 9 &
(3) gHI (A) 3R (R) 3 9d &
(4) =F1 (A) 3R (R) T4 & 3R (R), (A) &1 &I
TEHRT B

(5) SrgiRe U

CH, -CH=CH, +HCI I Idq1S X)
IR SAMWAhAT fshH W #egadl a2 I
Idre (X) BT gAY —

(C,H,C0),0,
_— s

HEa] = ITE (X)
+
(1) CH,—CH,—CH, —CH,—CH,—Cl
@) CH:— C'?H—('?Hz CH,— CH,—CH,—Cl
Cl
+
(3) CH;—CH—CH,; CH;—CIH —CH,4
cl
@ CH3—C|‘H—C"H2 CH,—CH,—CH,—
cl
(8) arfaRa weA
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126. The minimum pressure required to compress
400dm’ volume of air at 1 bar pressure to
200dm? at 30°C temperature will be -

(1) 0.5 bar (2) 2.0 bar
(3) 2.5 bar (4) 1.0 bar
(5) Question not attempted

R
127. The valueof A, for thecompound is—
(2 ._a.
=}

P

(1) 373 mp (2) 343 mp
(3) 363 mp (4) 313 mp
(5) Question not attempted

128. The epimer of glucose is -

(1) Ribose (2) Mannose
(3) Xylose (4) Fructose
(5) Question not attempted
129. Match the Column-I (Chemical) with Column-II
(Biological function) -
Column-I Column-II
(Chemical) (Biological function)
(1) Tetracycline (a) Bactericidal
(i1) Furacine (b) Bacteriostatic
(i11) Saccharin (c) Artificial sweetener
(iv) Penicillin (d) Antiseptic

Correct code is -
(1 (@i)-(b), (i)-(d), (iiD)-(c), (iv)-(a)
@) (i)-(a), (i)~(b), (iiD)-(c), (iv)-(a)
() (@)-(b), (ii)-(c), (iii)-(a), (iv)-(d)
() (i)-(a), @i)-(b), (iii)-(c), (iv)-(d)
(5) Question not attempted
130.1f E° = —0.25 V for Ni**/Ni; E* = 1.5 V for
Au’*/Au, then the emf (E.,) of the cell
Ni/Ni%* (1.OM)IAu?* (1.0M)/Au is -

126 30°C ATq o1 1 bar T W G B 400dm?
AT BT 200dm® T TRERET B B forw

TS YAqH <19 BN —
(1) 0.5 bar (2) 2.0 bar
(3) 2.5 bar (4) 1.0 bar
(5) srgaRa we

R

127. ?ﬁﬁ?ﬁ a%%qlmaxaﬂmg_
(L2

(1) 373 mp (2) 343 mp
(3) 363 mp @) 313 mp
(5) srgaRa ued
- 128. ’?ﬁ?ﬁﬁl HT o 2 —
(1) ~Za (2) T
() ST () e
(5) IR we
129. pierm—1 REEF) & Biew—11 (Gfde Bri) |
gHferd sty —
PieT—I Prer—II
(¥aras) (Sifdw wr)
(i) cgragEi (a) Sftaroq=reft
(i) R (b) SHaTIfRREd
(iii) HFe= (c) P TRS
(iv) ufafafer (d) et
HEl &HT B —

() (@)-(b), (ii)-(d), (iii)-(c), (iv)-(a)
(2) ()-(d), (ii)-(b), (iii)-(c), (iv)-(a)
() (@)-(b), (ii)-(c), (iii)-(a), (iv)-(d)
@) ()-(a), (iD)-(b), (iii)-(c), (iv)-(d)
(8) argaRa ue
130. 3f3 Ni>*/Ni & forg E* = —0.25 V; Au’*/Au &
L B = 85 N B wdlE e
Ni/Ni** (1.OM)lIAu* (1.0M)/Au BT emf (Efoy) & —

(1) +1.75Vv (2 -1.75v (M +1.75Vv (2 -1.75v
() -125V 4) +1.25V @) -1.25V 4 +1.25V
(5) Question not attempted (5) srgaRa ue
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131.

132.

133.

Match List-I with List-II and select the correct
answer by using the code given below the lists -
List-I
(A) Essay type questions
(B) Matching type questions
(C) True-False type questions
(D) Multiple type questions
List-11
(i) Statement with alternatives of answer
(ii) Measure complex learning outcome
(iii) Matching of two or more sets of material
(iv) Declarative statement with two choices
Code -

() (A)-G), B)-(iii), (C-(ii), D»Gv) 34

(2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(1)

(3) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)

(4) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)

(5) Question not attempted

Which of the following is related to ‘Faith in
possibility of solving problems’?

(1) Scientific Temper (2) Scientific Attitude

(3) Scientific Literacy (4) Scientific
Knowledge

(5) Question not attempted

Read the Assertion (A) and Reason (R) carefully

for Science and choose the correct option -
Assertion (A) : Science is both body of
knowledge and method of
inquiry.
Reason (R) : Science involves thinking,
observation, experimentation and
reasoning. In Science facts,
concepts, laws and theories are
derived from process.
(1) (A) is false but (R) is true.
(2) Both (A) and (R) are individually true and
(R) is the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are individually true but
(R) is not correct explanation of (A).

(5) Question not attempted

131. i1 31 g1 9 gafera I qen = &

4 ¥ T de B T TR GE IR P
T DI —
-1

(A) FeTEs ued
(B) foa= weA
(C) FI—3 Ued
(D) sgfddedia gz

A1
(i) STR & fadeyl & 9T HIT
(i) Sifeer 3rferm afRem| & /9=
(iii) I & <1 A1 e el &1 e
(iv) <1 fasedt arem aNoTHE HH
'qz\? R
(1) (A)-(1), (B)-(iii), (C)-(ii), (D)-(iv)
(2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(1)
() (A)-(iv), (B)-(iii), (O)-(), (D)-(ii)
(4) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)
(5) argeIiRa wed

- fo=fofRed 5 9 ®1F 8T FHRE B FRTd]

H favam & 9=fa 8?2

() dsfe T (2) s sfgRy
(3) Jsnfarep weRar () dsnfe T
(5) arfaRa ue

s @ fow sfdeH (A) 3R RO (R) B

& ¥ U3 iR w8 fadbed g —
e (A) : fa=im, 9 BT HSR T gl
31 fafy <= & |
&R (R) : fagm= # o=, eraaiia, T U4

a® aAIfed & | s | e,

(1) (A) 39 § fg (R) 9 & |

(2) (A) T@ (R) SFI J9F U ¥ el § SR
(R), (A) @I \EI R=T & |

(3) (A) ¥ & fog (R) 39 B |

4) (A) U9 (R) TMT 9I% WU ¥ WE § WRR]
(R), (A) @ W&l IR &1 B |

(5) argaiRa ueA
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134.

135.

136.

137.

Learners are constantly constructing and
reconstructing their cognitive structures, both as
a result of newly acquired knowledge and as a
result of their reflection on previously acquired
knowledge. This mentioned assumption is based
on which curriculum approach?

(1) Humanistic (2) Cognitivist

Approach Approach
(3) Behaviouristic (4) Constructivist
Approach Approach

(5) Question not attempted

Which of the following option shows the
importance of laboratory work?

(a) Development of process skills of Science

(b) Development of scientific attitude

(c) Understanding the nature of Science

(d) Development of cognitive abilities

Select the correct answer using the code given
below -

Code -

(1) Only (a)and (b)  (2) Only (a), (b) and (c)
(3) (a), (b), (c) and (d) - (4) Only (b) and (c)

(5) Question not attempted

Which of the following is typically considered

an activity in a Science fair?

(a) Science quiz contest

(b) Film shows and plays on scientific concepts

(¢) Group discussions, seminars and workshops
on Science : ;

(d) Lectures and talks of Science teacher

Select the correct answer using the code given

below -

Code -

(1) Only (a)and (c)  (2) Only (a), (b) and (d)

() (a), (b), (c) and (d) (4) Only (b) and (d)

(5) Question not attempted

Out of the following, which comes under the
product of Science?
(1) Scientific Laws (2) Formulation of

Hypothesis

(3) Scientific Attitude (4) Experimentation ™'

(5) Question not attempted

134.

135.

136.

137.

faemll TR e WSS WA &1
T SR gAfsmivr Brd ved €, 98 7 dad v
HIT F9 & HRYT BT & 9o Tsdl ¥ U
dM W Id RaT d bR A g 2 U
Sfecifd gRom 5| urgg=d SUH W
JMETRT 87

(1) A9 SUFE (2) HsEardT SUH
(3) aeRare! SUrFE  (4) RHioErd) IurH
(5) IR u%A

f=faRed # | e ey garmenar o
BT HE ST 87

(a) fasm & ufthar divrell &1 ey

(b) d=fa gRedIvT BT fadrg

(c) fa== @1 UBfa &1 FHsMT

(d) FSFTHS STHARN BT A

9 @3 ™ HE 1 SYENT FNe GE IR
EREE

a)_d‘_

1) Baw (a) @7 (b) (2) Bae (a), (b) T (c)

() (a), (b), (c) T (d) (4) Bae (b) TAT (c)

(5) srgaiRa we

Frreferaa 7 & =t 7fafafey wm=re: s

Aol o fafaferay § ar oy 82

(a) fasm weARRI ufeafiar

(b) TSP JTTRONST R R e yesie
IR AeH

(c) fasiM R w8 9=, G Mftsdt siv sriememd

(d) fasi= fRrers o <= ug 9| -

A @ T ge @ ST e 9E IR

ThR —

%T_

(1) dael (@) 79 (c) (2) Had (a), (b) T (d)

() (a), (b), (c)Td (d) (4) Haat (b) T (d)

(5) argaiRa ye

fr=rfaRaa # | e fag= @ 9o & agq

7T B2

M) 9 fm () gRvemT FT1 fmior
(3) AP gy (4) T
(5) srgaRa T
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138. Which of the following are the advantages of
field trips in Science?
(a) It provides hands-on experience to the
learner.
(b) It is easy to conduct.
(c) It is useful in collecting Science related
material.
(d) It provides the opportunity for selection of
the projects.
Choose the correct code -
(1) Only (a), (c) and (d) (2) Only (a), (b) and (c)
(3) Only (b) and (c) (4) Only (a) and (b)
(5) Question not attempted
139. Match List-I with List-II and select the correct
answer by using the code given below the lists -
List-1
(A) Comprehension
(B) Application
(C) Analysis
(D) Synthesis
List-II
(i) Bringing to bear upon given material the
appropriate generalization or principles
(ii) Putting together of elements or parts so as to
form whole ‘

(iii) Grasp the meaning and intent of material
(iv) Breakdown of material into constituent parts
and detection of the relationship of parts

Code -

M (A)-(iv), (B)-(iii), (C)-(ib), (D)-(i)
(2 (A)-(), B)-(id), (C)-(i), (D)-v)
() (A)-(iii), (B)-(1), (C)-(iv), (D)-(i1)
@) (A)-(ii), (B)-(), (C)-(iii), (D)-(v)
(5) Question not attempted

140. The Continuous and Comprehensive Evaluation
in Science means —
(a) more frequent test
(b) summative and formative assessment

138. fa=feiRaa # 9 o9 s o 85 9991 & o
g7
(a) I8 IMERHHAIS B HFagiRe ATH &
Pl B |
(b) Tg FATAT ¥ M 2|
(c) T8 fasm deeht Wl gafa axa 4
Suaft 2
(d) T8 IRATTRIT & T 3G ATHR YT Bl
2|
el FHT BT TI9 DI —
(1) B (), (¢) T (d) @) Dret (a), (b) T ©
(3) dacT (b) T (c) (4 Hael (a) G (b)
(5) SrgaIRa W
139. Jefi—I B A1 & GAfera BTy T =
T A T g FT ST FB FEl SR B
I DI —
-1
(A) 3@
(B) ST
(C) faeryor
(D) HIeIToT
11
(1) & T 9l ) E‘El'gaﬁ =R AT
I‘H:EI"\‘I Fﬂ"‘l\ hxX ]
(i) Tl AT AT BT UH AT @A d1fd gof wY
9 9P
(iil) Y & 3ref SR ST B FHIAT
(iv) I BT Tehi F fauforg oar g W
P 9 FERT BT UAT AT
av)_d' e
(1) (A)-Gv), (B)- (111) (O)-(ii), (D)-(1)
(2) (A)-@), (B)-(iii), (C)-(ii), (D)-(iv)
() (A)-(iii), (B)-(), (C)-(iv), (D)-(ii)
(4) (A)-(ii), (B)-(1), (C)-(iii), (D)-(iv)
(5) srgaRa we
140. fag # \aq Td AUS et BT el & —
(a) 3P IRWR TRNE0T
(b) IRTIHSD Td XGATHD 3MTheld

(c) ira & Tl uBqall &1 Jedieh

A HE $HT BT UIT BIOY —

(c) evaluation of all aspects of development 1"-‘:
Choose the correct code - E? I o :
gz (1) sad (2 b
(1) Only (c) (@) () A o) et (1(;) p (@), ( )bw ©)
(3) Only (b) (4) Only (b) and (c) ®) st (058 )
(5) FgaiRa we

(5) Question not attempted
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141. Which of the following statement is not allied

142.

143.

with Project Method?

(1) It is observation oriented.

(2) Teacher encourages and helps the students in
learning, if needed. _

(3) Itis undertaken by students to plan and direct
teaching-learning activities.

(4) It is done by students in real or natural
setting.

(5) Question not attempted

Which of the following is not an advantage of

using multi—sensory aids in teaching?

(1) Promoting dependency and passivity among
students

(2) Clear and vivid imagery

(3) Enhanced retention of information

(4) Vicarious learning experiences

(5) Question not attempted

Which of the following role of Science teacher is

not allied with Inquiry Approach?

(1) A Science teacher should function as a
motivator and facilitator.

(2) A Science teacher should provide instruction
to the students by controlling the whole
process.

(3) A Science teacher should provide responsive
environment for inquiry learning.

(4) A Science teacher should work as a stage
setter by providing required materials and
facilities.

(5) Question not attempted

s

141.

142.

143.

fr=feRad & & ®iFar woe aRaer fafr |

g el 87

(1) ¥g 3aclied SHE ¢ |

(2) Rrre el & dicafRd &=ar & @R
Ife aravadar &1, ar AT # werIar axal
=

(3) uE Rl gr1 Rev—efrm TRk}

Gl [ o O | O s 1 4 S B o B 2 = )

o) =

(4) g8 fqeniRil grT arafde a1 upfie Refd

 forar o B 1

(5) SrgxIRa ueA
fFrferRaa # | s sg—sfey REor a8

Gl & SN BT VP A TEl 57

(1) st # e iR fAfSraar &1 qemr

(2) W 3R SiEd e

(3) IMPHRI BT 8% TR AR TR

(4) TRIET (r¥arcHeh) STENTH IATHd

(5) IfgaiRd g

frferRaa # 4 fagm Refe o s i
TS SUNTH A FHg T8l 87

(1) v g R 31 ke v glausar &

w0 # B AT AIRY |

(2) v fasme Reme &1 of ufear &1 fafa
FXd gY fIenf¥iEl o1 ogeed Wem &
afey |

(@) v fag= Ree @ w1 feH 8q
gfafharefiier araraRT ye™ beAr ARy |

@ te fasm Rers o snavgs wmiEl gd
gfaend ye™ o ge w9 T & w9 H
FTd HIAT =AY |

(8) IR ye
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144.

145.

146.

According to Miller, which of the following

is/are the main aspect/s of Scientific Literacy?

(a) An understanding of the key concepts

of Science

(b) An understanding of the norms and methods
of Science

(c) Understanding of the impact of Science and
Technology on society

Select the correct answer using the code given

below -

Code -

(1) (a), (b) and (c) are (2) Only (b) is correct
correct '

(3) Only (a) and (b) are (4) Only (a) is correct
correct

(5) Question not attempted

Read the Assertion (A) and Reason (R) carefully

and choose the correct option -

Assertion (A) : Constructivist teaching
strategies in Science promote
active participati_én and
knowledge construction by
students.

Reason (R) : Constructivism suggests that
learners actively build their
understanding of world based on
their experiences and prior
knowledge.

(1) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(2) (A) is false but (R) is true

(3) (A) is true but (R) is false

(4) Both (A) and (R) are true but (R) is not the

correct explanation of (A)

(5) Question not attempted

Which method has the following characteristics?
- It begins with observation. '
- It leads to hypothesis development.

- - It proceeds from specific to general.

.- It is a method of discovery.

(1) Inductive Method (2) Lecture-cum-
Demonstration
Method

(3) Deductive Method (4) Project Method

(5) Question not attempted

4. fer & ofER, FrafolRad & & oFwr/S

AT HERAT BT 9% Use] & /&7

(a) 99 & W9 ARl BT HHSET

(b) A5 & 99 vd At &1 a\sT
)W@uﬁa‘rﬁ?ﬁfﬁwwwﬁ

g*ﬁmwmmwmww

(1) (a), (b) TAT (c) =T (2) HaaT (b) & %
g

(3) Bacl (a) T (b) TSI (4) Dadl (a) TE 2
g R

(5) rgaRe wed

145. yf¥pee (A) 3R BRUT (R) BT <09 A U 8iR

el fdven g+ —

AMHYT (A) : fagm & FAfiqard) Refor
JorIfoEt ey grr afha
TfERT @ 39 & Ao @
GIcHIRT Bl 2 |

PR (R) : Fffdare gema ar & & et

HY SgHal SR g4 FH & SR
TR favg @1 U= GHH BT Afhy
w9 9 frEor e 2
(1) ST (A) 3R (R) 9E & 3R (R), (A) BT G
AT B

(2) (A) 7Tera g dfdha (R) =T ®

(3) (A) TS ? Wfbd (R) Terd 2

@ T (A) IR R) 9 & g R), (A) B

T ARAT T8l 8

(5) ergaRa T

146. forqy fafer & fy=iforiaa femany €2

— IE @ | TS B B

— I8 YRS BRI BT 3R of Sl 2|
— Jg fafdre & 9= @Y 3R gedr 21
— I8 W &1 U fafdy 2
(1) e fafy (2 IIFH—TE—YeIHT
fafdr

(3) = fafy (@) g fafy

(5) rgaRa yeA
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147.

148.

149.

150.

Match List-I with List-II and select the correct

answer by using the code given below the lists -
List-1

(A) Literary Activities

(B) Aesthetic Activities

(C) Social Welfare Activities

(D) Leisure Time Activities
List-II

(i) Stamp and Coin Collection

(i1) Debate and Discussion

(iii) Music, Dancing and Drawing

(iv) Social Services

Code -

(1) (A)-Gi), (B)-(D), (C)-(ii), (D)-(iv)

(2) (A)-(i), (B)-(iv), (C)-(iii), (D)-(ii)

() (A)-(i), (B)-(iD), (C)-(iii), (D)-(iv)

@) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)

(5) Question not attempted

As per NCF-2005, good Science education

should be -

(A) True to the child

(B) True to life

(C) True to the teacher

(D) True to Science

Select the correct answer using the code given

below -

(1) (A), (B)and (D) (2) Only (A) and (C)

(3) (A),(C)and (D) (4 (A), (B)and (C)

(5) Question not attempted

According to National Curriculum Framework

2005, at which stage students should be engaged

in learning Science as a composite discipline?

(1) Upper Primary (2) Secondary Stage
Stage

(3) Senior Secondary
Stage

(5) Question not attempted

The characteristic of test items under which a test

measures only what it is designed to measure, is

called -

(1) Validity (2) Reliability

(3) Relevance (4) Objectivity

(5) Question not attempted

(4) Primary Stage

147.

148.

149.

150.

A1 &I 11 ¥ Faferd sIfory dem =1 &
T R T He T TN e el IR B
T DI —

a1
(A) aTfefeaes wfafafert
(B) Hi=aferd Tfafafert
(C) g1t dearer Irfafaferdt
(D) 3aHIe FHT et

Ta-1I
(i) fefde vd faamr dug
(ii) Ire—faare va uR=m=t
(i) ¥, T wd R
(iv) ArIfTS HaTy
B~ _
(1) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)
(2) (A)-(), (B)-(iv), (C)-(iii), (D)-(ii)
() (A)-@), (B)-(ii), (O)-(iii), (D)-(iv)
4 (A)-(ii), (B)-(iii), (C)-(iv), (D)-(1)
(5) g we
TAHITHE 2005 & AR, 6] fagm= Rren
BT ARy =
(A) = & U Tt
(B) Siaq & ufq T=il
(C) 3raI®d & i |l
(D) fasm & ufa w=dr
I Ry T Hg & ST RS el SR B
T BN —
(M (A), (B)Td (D)
®3) (A),(C)w@ (D)
(5) srgaRa we
TSR YIGTaT &1 HUvT 2005 & I9R, {6
TR R el o e @ e 9wy favy
P w9 H GRgT ¥ Horre BT AIRy?
(1) S=a yrIffe WX (2) A9reafde wr
(3) S AreaAe wWR - (4) yrifHe 'R
(5) argaiRa wee
Te uel @ 98 faRvar, e et ue

TeTor 981 JUaT & e 7199 ee @ forg
IaaT fHToT gaT &, HEawl & —

(2) ®aa (A) Td (C)
@ (A),(B)Td (O)

(1) Jeram (2) fregg=igar
(3) wrEfTehar (4) g&gfradr
(5) Sr<IRT Te
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